
1 
 

�
�
�
�

 

�
�
�
�
�
�
�

��������������������	
��
������������
������� 	�� �
�

�
�
�
�
�
�

�
�
�



2 
 

���������
�����	������
�	��
���
�� � � � �
�

��  ������������������
��  ������������� !�����

��  ������������
���
��  ��������������
�
��  ������
��
�������� �!�������
"�  ��#
���$������� �%��
���
&� !�$'������%
��%��

��  ������"���� !�����
#$% &��$'������(�����
(�  ����������
�
��  �����
� 
�
��  ��������
���
)�  ��������*�
��
���  �
������
���  �%���$
%��
���  +����$��
%��
���  ,��
�����-����
���
����� �+�����$����
�"�  ,��*�./��'
����� �0%%������%��
�&�  ���
�
%����%
��%��
�(�  ��%
������
���  ����
%�0 $
�
�����
���
���  1��
�
���
�)�  +��
%23�%��4�
���  ���$�����������
���  +��
%�2������$�����4�
���  +��
%��25����4�
���  6��%��
�"�  ��
����'���
�&�  � �%��
���
�(�  ������'���
���  6�7��%����� 
���
���  ���%�������
�)�  ��$���%
��%��
���  +� ��
����� ��%��'�����
���  ���$���
%�������'�%�
#���� �0�%�
��%������6��8
���
���  !�$$��%
���0���
���  6��8
����� ���
��
���
�"�  �
�������� �0''��%
��
����7�0���
�&�  ����
%���� �%��
����� ��'����
�(�  �������%��
���  1�����6�#���'$������ ���#
���$����
���  +� 
����� 
���

# % ����'���(�����
�)�  ����
%��
"��  !��$
�����
"��  ,
������
"��  ��������
"��  ,
���%��������
""�  !�$'�����0''�
%��
���
"&�  ���$������7����%����
%�����
����
���



3 
 

#�%��������������(�����
"(�  ,��
�������� 
�����
"��  0%%������%�	��
"��  ,��
������%���$
%���� �9����
���
#��+���� ��.��
")�  +� ����-77
%�����%�
%���

#�%�����)����������(�����
&��  0��
%�������

#�%��������'��$��(�����
����*�
��  ������
��7��������������%����7�:�������#�
�������������,��� ;��8����
���

888�'�����%�
� �
��  ���#
�
���7����'�
���������������������������%�
#�������%��
��8
�� �� 8���
��  5�����
�����%������
�������%��$���7���� 
����7�:���
"�  ������
�7�����%��
%�������'�%����������
�� �7��$�6
��%���<�0%� �$
%�<�

��������%������ �%��
���,��� <�+����
��

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



4 
 

(A) SCHEME OF STUDIES  
(ACADEMIC STREAM) 

FOR 
Senior Secondary (12 th Class) Examination 

 
(a) Compulsory Subjects: Every candidate shall offer the following subjects: 

Sr. 
No. 

Subject       Th             Prac               CCE  Total 
Marks 

Min 
Pass 

Marks 
Max/Min  Max/Min  Max 

1. General English 65 22   10 75 25 

2. General Punjabi 
            Or 
Punjab History and 
Culture 

65 22   10 75 25 

3. Environmental Education 45 15   05 50 17 

4. Computer Science 50 17 40 13 10 100 33 
 

*Important Note : Every candidate shall offer ’Environmental Education and 

Computer Science’ as compulsory subjects. Examination of these 

subjects will be conducted at the school level.  Evaluation also 

shall be done at school level and result in the form of Grades as 

shown in the Pass Formula will be sent to the Board and same 

will be reflected on the Certificate.  

Note: 1. A candidate who has passed the Matriculation examination from a Board 

other  than the Punjab School Education Board can have Punjab History 

and Culture in lieu of the Compulsory Punjabi Subject in the 11th/12th 

classes. Such students will furnish proof of not having studied Punjabi at the 

Matric level. 

           2. A candidate who has passed Matriculation examination from the Punjab 

School Education Board with ‘Punjab History and Culture’ as a subject can opt 

for Punjab History and Culture in lieu of compulsory Punjabi in the 11th and 12th 

classes. 

(b) Elective Subjects: 

 In addition to the compulsory subjects every candidate shall offer any of the 

following groups: 

  Group I Humanities 

  Group II Science 

  Group III Commerce 

  Group IV Agriculture 

  Group V Technical 

(c) Additional Subjects: 

 In addition to three elective subjects offered by a candidate out of the group 

(only in case of Humanities, Science and Agriculture groups) a student may 

offer one additional subject from the same group.   
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HUMANITIES GROUP 

 
Every candidate shall offer any three elective subjects from the following:  

Sr. 
No. 

Subject  
 
 

     Th           Prac          CCE Total 
Marks 

Min 
Pass 

Marks 
  Max/Min  Max/ Min  Max 

 
1. 

i. 
ii. 
iii. 
iv. 

Language (anyone)  
Punjabi (Elective) 
Hindi 
English(Elective) 
Urdu 

 
90 
90 
90 
90 

 
30 
30 
30 
30 

 

   
10 
10 
10 
10 

 
100 
100 
100 
100 

 
33 
33 
33 
33 

2. 
 
i. 
ii. 
iii. 
 
iv. 
v. 
vi. 
vii. 

Classical/Foreign Language  
(anyone)  
Sanskrit 
Arabic 
Persian    
  OR 
French 
German 
Russian 
Korean 

 
 

90 
90 
90 

 
70 
70 
70 
70 

 
 

30 
30 
30 

 
23 
23 
23 
23 

 
 
 
 
 
 

20 
20 
20 
20 

 
 
 
 
 
 

07 
07 
07 
07 

 
 

10 
10 
10 
 

10 
10 
10 
10 

 
 

100 
100 
100 

 
100 
100 
100 
100 

 
 

33 
33 
33 

 
33 
33 
33 
33 

3. History 90 30   10 100 33 

4. Economics 90 30   10 100 33 

5. Mathematics 90 30   10 100 33 

6. Business Organisation & 
Management 

90 30   10 100 33 

7. Book Keeping and 
Accountancy 

90 30   10 100 33 

8. Political Science 90 30   10 100 33 

9. Sociology 90 30   10 100 33 

10. Public Administration  90 30   10 100 33 

11. Philosophy 90 30   10 100 33 

12. Education  90 30   10 100 33 

13. Religion 90 30   10 100 33 

14. Geography  70 23 20 07 10 100 33 

15. Defense Studies 70 23 20 07 10 100 33 

16. Psychology  70 23 20 07 10 100 33 

17. History and Appreciation of 
Art 

90 30   10 100 33 

18. Geometrical Perspective and 
Architectural Drawing 

90 30   10 100 33 

19. Rural Development and 
Environment 

90 30   10 100 33 

20. Insurance 90 30   10 100 33 

21 Computer Application 60 20 30 10 10 100 33 
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22. Agriculture 60 23 30 07 10 100 33 

23. Home Science  60 20 30 10 10 100 33 

24. Music (Vocal) 60 20 30 10 10 100 33 

25. Gurmat Sangeet 60 20 30 10 10 100 33 

26. Music (Instrumental) 60 20 30 10 10 100 33 

27. Music (Tabla) 60 20 30 10 10 100 33 

28. Music (Dance) 60 20 30 10 10 100 33 

29. Physical Education & Sports 40 13 50 17 10 100 33 

30. Drawing & Painting   90 30 10 100 33 

31. Commercial Art   90 30 10 100 33 

32. Modeling and Sculpture   90 30 10 100 33 

33. Media Studies 70 23 20 07 10 100 33 

 

Note: (1) Candidates taking up Home Science as an elective subject may 

choose atleast one subject from Sociology, Psychology and 

Economics if they wish to seek admission to higher courses in Home 

Science. 

           (2) The syllabus of computer application will be same as prescribed in the 

Science Group. 

   (3) The syllabus of Agriculture will be same as prescribed in the Agriculture 

Group. 

Imp. Note : If a candidate wants to appear in a lan guage other than Punjabi, 

Hindi, English, Sanskrit, Urdu, Arabian, Persian an d French, 

he/she shall have to take prior permission from Dir ector 

Academics. 

 
                           SCIENCE GROUP 

Every candidate shall offer the following subjects:  

Sr. 
No. 

Subject      Th              Prac              CCE 
 

Total 
Marks 

Min 
Pass 

Marks Max/ Min Max/ Min  Max 

1. Physics  70 23 20 07 10 100 33 

2. Chemistry 70 23 20 07 10 100 33 

3. Biology 
Or 
Mathematics 

70 
 

90 

23 
 

30 

20 07 10 
 

10 

100 
 

100 

33 
 

33 

A candidate can offer an additional subject out of the following: 

I. Geology 70 23 20 07 10 100 33 

II. Geography 70 23 20 07 10 100 33 

III. Home Science  60 20 30 10 10 100 33 

IV. Agriculture 70 23 20 07 10 100 33 

V. Biology 
Or 
Mathematics 

70 
 

90 

23 
 

30 

20 07 10 
 

10 

100 
 

100 

33 
 

33 
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VI. Computer Application 60 20 30 10 10 100 33 

VII. Elements of Electronic 
Engg. 

40 13 50 17 10 100 33 

VIII Economics 90 30   10 100 33 

IX. Biotechnology 70 23 20 07 10 100 33 

 

Note: (i) In addition to three elective subjects offered by a candidate out of 

Science group a candidate desiring higher studies in Ayurveda, may 

offer Sanskrit as an additional language. The syllabus of Sanskrit will 

be the same as prescribed in the Humanities Group. 

(ii) The Syllabi in subjects of Economics, Geography, Home Science and 

Mathematics will be the same as prescribed in the Humanities Group. 

(iii) The syllabus in the subject of Agriculture will be same as prescribed in 

the Agriculture Group. 

COMMERCE GROUP 
 

Sr. 
No
. 

Subject       Th           Prac         CCE  
 

Total 
Marks 

Min 
Pass 

Marks Max/Min Max/Min  Max 

1. Business Studies-II 65 22   10 75 25 

2. Accountancy II 50 17 15 05 10 75 25 

3. Business Economics  & 
Quantitative Methods-II 

65 22   10 75 25 

4. Fundamentals of  
E-Business 

50 17 15 05 10 75 25 

 A candidate can also offer an additional subject out of the following: 

(a)  Computer Application           

(b)  Mathematics                       

Note:   (i) All the four Elective subjects i.e. Sr. No. 1 to 4 are compulsory. 

            (ii) The syllabus of Computer Application will be the same as prescribed in 
Science and Humanities Group. 

(iii) The syllabus of Mathematics will be the same as prescribed in Humanties 
Group. 

AGRICULTURE GROUP 
 

Sr. 
No 

Subject       Th               Prac          CCE Total 
Marks 

Min Pass 
Marks 

  Max/ Min Max/ Min  Max   

1. Agriculture 70 23 20 07 10 100 33 

2. & 3. Any two of the following: 

(i) Physics 70 23 20 07 10 100 33 

(ii) Chemistry 70 23 20 07 10 100 33 

(iii) Economics 90 30   10 100 33 



8 
 

(iv) Rural Development & 
Environment 

90 30   10 100 33 

(v) Geography 70 23 20 07 10 100 33 

A candidate can offer an additional subject out of the following: 

(a) Mathematics 90 30   10 100 33 

(b) Computer Application 60 20 30 10 10 100 33 

 

Note: The Syllabi in the subjects of Physics, Chemistry and Computer 

Application will be same as prescribed in the Science Group and that 

of Geography, Mathematics, Economics and Rural Development & 

Environment will be the same as in the Humanities Group. 

 Abbreviations : 

 Th - Theory 

 Pr - Practial  

 CCE - Continuous Comprehensive Evaluation. 

Note:  1 A candidate can offer computer application as an additional subjects also. 

The syllabus of computer application will be the same as prescribed in 

Science Group. 
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2a gzikph (bk÷wh)2a gzikph (bk÷wh)2a gzikph (bk÷wh)2a gzikph (bk÷wh)    
;wK L 3 xzN/;wK L 3 xzN/;wK L 3 xzN/;wK L 3 xzN/                                                                                                                fbysh g/goLfbysh g/goLfbysh g/goLfbysh g/goL    65656565    nzenzenzenze    

                                                            nKsnKsnKsnKsfoe w[bKeDL 10foe w[bKeDL 10foe w[bKeDL 10foe w[bKeDL 10    nzenzenzenze    

                                                                                                            eZ[b L75 nzeeZ[b L75 nzeeZ[b L75 nzeeZ[b L75 nze    

nze tzv ns/ gkmnze tzv ns/ gkmnze tzv ns/ gkmnze tzv ns/ gkm----eqweqweqweqw 

bVh bVh bVh bVh 

BzLBzLBzLBzL    

gkmgkmgkmgkm----eqweqweqweqw    nzenzenzenze    

1a gzikph b'e ;kfjsL-  b'e-rhs ns/ b'e-eEktK   26 

2a nzro/÷h s'A gzikph ftZu nB[tkdL- seBheh ôpdktbhL-p?Ae, o/bt/, vke, ezfgT{No 

ns/ phwk ;/tktK Bkÿ ;zpzfXs tkeK ftZu tos'A   

10 

3a gzikph Gkôk fbyD dk j[BoL- nõpko d/ ;zgkde ù gZso, fJôfsjko, ;Zdk gZso ns/ 

g?ok ouBk.  

19 

4a ftnkeoBL-w[jkto/ 10 

e[Zb nzee[Zb nzee[Zb nzee[Zb nze    65656565    

gqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/yk 

gohfynk gZy'A nfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfyneK bJh ftô/ô fjdkfJsgohfynk gZy'A nfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfyneK bJh ftô/ô fjdkfJsgohfynk gZy'A nfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfyneK bJh ftô/ô fjdkfJsgohfynk gZy'A nfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfyneK bJh ftô/ô fjdkfJsKKKK    

gqôB BzL 1  ;w[Zu/ gkm-eqw d/ nXko s/ ;zy/g T[ZsoK tkÿ/ dZ; gqôB g[ZS/ ikDr/ jo/e gqôB dk 1 

nze j't/rk. nzeK dh tzv j/m fby/ nB[;ko j't/rh L- 

(T) gzikph b'egzikph b'egzikph b'egzikph b'e----;kfjs L;kfjs L;kfjs L;kfjs L 2 nze (pj[-u'D, mhe$öbs, õkbh EKtK iK fJZe d' 

ôpdK d/ T[Zso tkÿ/ gqôB) 

(n) b'eb'eb'eb'e----rhs Lrhs Lrhs Lrhs L 2 nze ( d' gqôB - d't/A gqôB fBoXkfos gkm-;wroh d/ nkXko 

Ós/  gZ[S/ ikDr/). 

  (J) b'e eEktKb'e eEktKb'e eEktKb'e eEktK L 2 nze ( d' gqôB gksoK ;zpzXh g[ZS/ ikDr/). 

(;) nzro/÷h s'A gzikph nB[tkdnzro/÷h s'A gzikph nB[tkdnzro/÷h s'A gzikph nB[tkdnzro/÷h s'A gzikph nB[tkd L 2 nze(f;ZXk noE g[ZSDk, pj[-u'D, fwbkB 

eoBk) seBheh ôpdktbh Ós/ nkXkfos gkm ns/ gkm nfGnk; ftZu' 2 

gqôB g[ZS/ ikDr/. jo gqôB dk fJZe nze j't/rk.  

(j) w[jktow[jktow[jktow[jkto/L-2 nze (1 nze tos'A ;fEsh dZ; e/ Y[etK w[jktok fbyD, 1 nze 

w[jkto/ d/ noE Bkÿ ;zpzfXs pj[-u'Dh gqôB Óu'A mhe noE fbyD dk 

j't/rk).                                                                  10%1&10 nze10%1&10 nze10%1&10 nze10%1&10 nze     

gqôB BzL 2  gzikph gkm-g[;se ftZu b'e-rhsK pko/ fdZs/ gkm-nfGnk;K d/ gqôBK ftZu'A e'Jh 

4 gqôB d/ e/ d' dk T[Zso fbyD bJh fejk ikt/rk.                       5555+5&10 nze5&10 nze5&10 nze5&10 nze    

gqôB BzL 3  gzikph gkm-g[;se ftZu  fdZshnK tZy-tZy tzBrhnK dhnK b'e-eEktK ftZu'A d' 

d/ BK d/ e/ fe;/ fJZe eEk dk ;ko nkgD/ ôpdK ftZu fbyD bJh fejk ikt/rk.                

                                                                                                                                                                                                                                                                                                                     10 nze10 nze10 nze10 nze 

gqôB BzL 4      (T)  gkm-g[;se ftZu fdZsh rJh seBheh ôpdktbh ftZu'A d; ôpd d/ e/ fe;/ S/ 

d/ noE fbyD bJh fejk ikt/rk.          6%1$2&3 nze6%1$2&3 nze6%1$2&3 nze6%1$2&3 nze  

(n)  gkm-g[;se ftZu fdZs/ rJ/ p?Ae, o/bt/, vke ns/ phwk-;/tktK ns/ ezfgT{No 

Bkÿ ;zpzfXs nZm tke d/ e/ e'Jh gzi tkeK dk gzikph nB[tkd fbyD bJh 

fejk ikt/rk.                                                                5%1&5 nze5%1&5 nze5%1&5 nze5%1&5 nze 

gqôB BzL 5  fe;/ w;b/$xNBk ;zpzXh fe;/ nõpko d/ ;zgkde ù gZso fbyD bJh d' ftô/ d/ e/ 

fe;/ fJZe pko/  fbyD bJh fejk ikt/rk.                           2222+4+2&8 nze2&8 nze2&8 nze2&8 nze 
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gqôB BzL 6 gzikph gkm-g[;se ftZu fdZshnK tzBrhnK nB[;ko fJZe fJôfsjko iK ;ZdkFgZso 

fbyD bJh fejk ikt/rk .                                       5 nze5 nze5 nze5 nze 

gqôB BzL 7  e'Jh fszB ftô/ d/ e/ fe;/ fJZe ftô/ pko/ br-gr 150 ôpdK dh g?ok-ouBk eoB 

bJh fejk ikt/rk.                                                                  6 nze6 nze6 nze6 nze 

gqôB BzL 8  gzikph gkm- g[;se ftZu'A e'Jh nZm w[jkto/ d/ e/ fe;/ uko ù tkeK ftZu tosD 

bJh fejk ikt/rk.               4%2&8 nze4%2&8 nze4%2&8 nze4%2&8 nze 

#  fBoXkfos gkmfBoXkfos gkmfBoXkfos gkmfBoXkfos gkm----g[;seL bk÷wh gzikphg[;seL bk÷wh gzikphg[;seL bk÷wh gzikphg[;seL bk÷wh gzikph----11 11 11 11                     

# gqgqgqgqekôeL ekôeL ekôeL ekôeL gzikp ;e{b f;Zfynk p'ovgzikp ;e{b f;Zfynk p'ovgzikp ;e{b f;Zfynk p'ovgzikp ;e{b f;Zfynk p'ov    

�
�
�
�
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frnkothA frnkothA frnkothA frnkothA ôq/Dhôq/Dhôq/Dhôq/Dh    
5a 5a 5a 5a ezfgT{No ezfgT{No ezfgT{No ezfgT{No ;;;;kfJzkfJzkfJzkfJz;;;; 

    (fbysh gqhfynk)(fbysh gqhfynk)(fbysh gqhfynk)(fbysh gqhfynk)    
;;;;wK wK wK wK : 3 xzN/xzN/xzN/xzN/                                                                                                                    fbysh L fbysh L fbysh L fbysh L 50 nzenzenzenze    

                                                                        ;;;;hahahaha;;;;haJha L haJha L haJha L haJha L 11110 nze0 nze0 nze0 nze    

                                                                                                                                                                                                                                                                                                gq:'rh L 40 nzegq:'rh L 40 nzegq:'rh L 40 nzegq:'rh L 40 nze    

                                                                                                                                                                                                            e[Zb  e[Zb  e[Zb  e[Zb  ��100 nze100 nze100 nze100 nze 

1a gqôB gZso uko GkrK (Gkr T, Gkr n, Gkr J ns/ Gkr ;) ftZu tzfvnk j't/rk. 

2a Gkr T nkpi?efNt NkfJg j't/rk fi; ftZu 1 s'A 6 sZe 1- 1 nze d/ 6 gqôB j'Dr/. 

3a Gkr n ftZu gqôB Bz 7 s'A 12 sZe 2-2 nze d/ 6 gqôB j'Dr/. 

4a Gkr J ftZu gqôB Bzz 13 s'A 17 sZe 4-4 nze d/ 5 gqôB j'Dr/. 

5a       Gkr ; ftZu gqôB Bzz 18 s'A 19 sZe 6-6 nze d/ 2 gqôB j'Dr 

6a Gkr T, n, J  ns/ Gkr ; d/ ;ko/ gqôB io{oh j'Dr/.  Gkr J  ns/ ; ftZu jo/e gqôB d/ d' 

iK d' s'A tZX Gkr th j' ;ed/ jB.  Gkr ; ftZu nzdo{Bh S'N j't/rh. 

 bVh bVh bVh bVh 

BzBzBzBz    

nfXnkfJ dk BKnfXnkfJ dk BKnfXnkfJ dk BKnfXnkfJ dk BK    e[Zb e[Zb e[Zb e[Zb 

nzenzenzenze    

1 nzeK 1 nzeK 1 nzeK 1 nzeK 

tkb/ gqôBtkb/ gqôBtkb/ gqôBtkb/ gqôB    

2 nzeK 2 nzeK 2 nzeK 2 nzeK 

tkb/ tkb/ tkb/ tkb/ 

gqôBgqôBgqôBgqôB    

4 nzeK 4 nzeK 4 nzeK 4 nzeK 

tkb/ gqôBtkb/ gqôBtkb/ gqôBtkb/ gqôB    

6 6 6 6 nzeK nzeK nzeK nzeK 

tkb/ gqôBtkb/ gqôBtkb/ gqôBtkb/ gqôB    

1a d;thA ebk; dh d[jokJh� 3 1 1   

2a  ÒÒ;hÓÓ Gkôk ftZu gq'rokfwzr bJh 

G{fwek�

6  1 1  

3a eK;N?AN;, t?ohJ/pb÷ ns/ vkNk 

NkJhg; 

7 1 1 1  

4a Ugo/No; ns/ n?e;gq/ôB 7 1 1 1  

5a ezNo'b cb' (Gkr 1) 7 1   1 

6a ezNo'b cb' (Gkr 2) 6  1 1  

7a n?o/; (Gkr 1) 3 1 1   

8a n?o/; (Gkr 2) 4   1  

9� v?;eNkg gpfbfôzr 7 1   1 

 e[Zb i'V 50 6 12 20 12 

1a    d;d;d;d;thA ebk; dh d[jokJhthA ebk; dh d[jokJhthA ebk; dh d[jokJhthA ebk; dh d[jokJh 

        ;kcNt/no ;zebg         

         f;;Nw ;kcNt/no L n"go/fNzr f;;Nw, :[fNfbNh ;kcNt/no,  n?gbhe/ôB ;kcNt/no n?e;bL 

vkNk NkJhg  ckow{bk ns/ czeôB÷, n?e;b ns/ chJhB?ZBfô:b vkNk n?uHNhHn?wHn?bHdh 

d[jokJh (REVIEW ON HTML): t?Zp g/fi;, n?uHNhHn?wHn?bH (HTML) ckJhb, 

wkJheo';'cN n;?; L vkNk ;'XBk, n;?; vkNkp/; d/ nkpi?eN; (N/pb, e[n?ohi, ckow, fog'oN, 

g/i gqrokfwzr ezB;?gN; dh d[jokJh (Review on programming concepts) Lgq'rokw 

fvt?bgw?AN d/ tZy-tZy gVkn, gq'rokfwzr Gkôk d/ n?bhw?AN 

2H " ;h;h;h;h" Gkôk ftZu gq'rokfwzr bJh G{fwekGkôk ftZu gq'rokfwzr bJh G{fwekGkôk ftZu gq'rokfwzr bJh G{fwekGkôk ftZu gq'rokfwzr bJh G{fwek    

 G{fwek            

          ;h ( C) Gkôk d/ ftô/ô bZSD 

 ;h (C) fuzBQ ;?ZN L n?;e/g fuzBQ, tkJhN ;g/; eo?eNo      

          ;h( C) gq'rokw dk ;NoeuoL j?vo ckJhb÷, gqh gq';?;o ;N/Nw?AN$fBod/ô, rb'pb fveb/o/;B; 

          ;h ( C)  gq'rokw dk ezgkJhb ns/ bkr{ eoB  

          n?vhNo dh tos'A          

          czeôBL fpbN fJB czeôB;, :{÷o gofGkôs czeôB; ckow/Nv nkJh$U czeôB L fgqNn?c     

          czeôB (printf function), ;e?Bn?c czeôB (scanf     function) ;h (C) gqrokfwzr Bkb   

          ô[o{nks eoBh L Nop' ;h B{z ;Ekfgs eoBk, gqrokw dh ezgkfJfbzr ns/ n?rf÷feT{fNzr 

3H eK;N?AN;, t?ohJ/pb÷ ns/ vkNk NkJhg;eK;N?AN;, t?ohJ/pb÷ ns/ vkNk NkJhg;eK;N?AN;, t?ohJ/pb÷ ns/ vkNk NkJhg;eK;N?AN;, t?ohJ/pb÷ ns/ vkNk NkJhg;                    
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 G[fwek          

 eK;N?AN;$ôkpfde L ;h (C) eK;N?AN dhnK NkJhg;      

          ;h ( C) t?ohJ/pb÷$nkJhv?ANhckJho dhnK NkJhg; L fvbhwhNo, t?ohJ/pb÷ dk fveb/o/ôB         

          fJfBfô:bkJhi/;B 

          t?ohJ/pb ftu eK;N?AN ;N'o eoBk 

          vkNk NkJhg;L L fpbN fJB vkNk NkJhg; (fJzBNhio, cb'fNzr g[nkfJzN F vkNk NkJhg˜ ,    

          eo?eNo vkNk NkJhg, vpb, t'nkfJv vkNk NkJhg),, w/B czeôB j?vo N'eB÷     

(nkJhv?AfNckfJo÷), eh-tov÷, eK;N?AN, Ugo/No;) L eh tov÷ ns/ nkJhv?ANhckfJo÷, 

NkJhg w'vhckfJo iK e[nkbhckJho 

4 Ugo/No; ns/ n?e;gq?ôBUgo/No; ns/ n?e;gq?ôBUgo/No; ns/ n?e;gq?ôBUgo/No; ns/ n?e;gq?ôB    

G{fwek            

Ugo/No; ns/ n?e;gq?ôB L n?e;gq?ôB, pkfJBoh Ugo/No, n'goôB÷ ns/ fjo?uheb nkovo  

(Operations & Hierarchical order) fob/ôBb ns/ b'iheb Ugo/NoL b'iheb Ugo/No,   

n;kJhBw?AN Ugo/No,  

 fJBeohw?AN  ns/ fveohw?AN Ugo/No;, NoBoh Ugo/No, e"wk Ugo/No, ;kJhvnkc() Ugo/No,   

fpNtkJhi  

Ugo/No 

5H ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)                  

          G{fwek           

 fvf;÷B w/fezr ;N/Nw?AN L fJc ;N/Nw?AN (if statement), fJc n?b; ;N/Nw?AN (if else) 

          ;ftu ;N/Nw?AN            

          pq/e ;N/Nw?AN           

          fBozso ;N/Nw?AN  

6H ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)                     

         G{fwek            

         ezNo'b b{g ;Noeuo L tkJhb ;N/Nw?AN (While statement), v{ tkJhb (do while),    

         cko ;N/Nw?AN b{g (For Statement loop) 

7H n?o/; (Gkr 1)n?o/; (Gkr 1)n?o/; (Gkr 1)n?o/; (Gkr 1)                 

         G{fwek              

         n?o/ dh fveb'nfozr ns/ fJBfô:bkJh÷/ôB L fJBfô:b kJhf÷zr n?o/;    

         e[M ftô/ô fB:wL n?o/ ftu vkNk gqt/ô eoBk,       

         n?o/ ekgh eoBh           

         n?o/ d/ w[ZbK dh gj[zu eoBh         

         n?o/ n?bhw?AN; dk gqpzXB 

8H n?o/; (Gkr 2)n?o/; (Gkr 2)n?o/; (Gkr 2)n?o/; (Gkr 2)                   

         G{fwek            

         d' vkJhw?BôBb n?o/ L d' vkJhw?BôB; n?o/ dh fveb/o/ôB, d' vkJhw?BôBb n?o/ dh pDso, d'    

vkJhw?Bôb n?o/ n?bhw?AN; dk fJBhfô:bkJh÷/ôB, d' vkJhw?Bôb n?o/ ;N/Nw?AN dk 

fJBhfô:bkJh÷/ôB  w?woh ftu d' vkJhw?BôBb n?o/ n?bhw?AN; wbNh nkfJw?BôBb n?o/; - 

e?o NkJhgL wbNh nkfJw?BôBb n?o/; d/ n?bhw?AN; sZe  gj[zu, e?o NkJhg wbNh 

vkfJw?BôBb n?o/ dk fJfBô:bkJhi/ôB, e?o tZov gq';?f;zr d/ d' vkfJw?BôBb n?o/

 fJe-e?o NkJhg fJBg[ZN$nkT{Ng[N        

          # vhvkJhB vkfJo?efNt (# define directive) 

9H v?;eNkg gpfbfôzrv?;eNkg gpfbfôzrv?;eNkg gpfbfôzrv?;eNkg gpfbfôzr                  

          v?;eNkg  gpfbfôzr pko/ ikDekoh        

          vke{w?AN; B{z fgqzN eoBk          

          fgqzfNzr d/ sohe/ nkø;?zN fgzqfNzr, b/÷o fgzqfNzr       

           c"AN;            
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           co/w 

 g/i b/nkT{N           

          v?;eNkg gpbhfôzr ns/ tovgq';?;o ftu nzso      

          vke{w?AN gb?fBzr          

          w[Zy ;{uBk B{z yk; s"o s/ fdykfJnk ikDk L ;NkJhb, wkoiB, c[No, c"AN  

    

ezfgT{No ezfgT{No ezfgT{No ezfgT{No ;;;;kfJzkfJzkfJzkfJz;;;;    ((((    frnkothA frnkothA frnkothA frnkothA ôq/Dh)ôq/Dh)ôq/Dh)ôq/Dh) 

                nrtkJh bhjK (gq:"rh gqhfynk)nrtkJh bhjK (gq:"rh gqhfynk)nrtkJh bhjK (gq:"rh gqhfynk)nrtkJh bhjK (gq:"rh gqhfynk)    

                ;;;;wKwKwKwK----3 xzN/3 xzN/3 xzN/3 xzN/                            nze nze nze nze ----40404040  

gqhfynk bJh nze tzv j/m fby/ nB[gqhfynk bJh nze tzv j/m fby/ nB[gqhfynk bJh nze tzv j/m fby/ nB[gqhfynk bJh nze tzv j/m fby/ nB[;;;;ko j't/rhLko j't/rhLko j't/rhLko j't/rhL    

                             ;?eôB - J/  tkfJtk- t';            10 

                             ;?eôB �  ph                foekov ckfJb            10 

                             ;?eôB - ;h    S'N/ gq'rokw            20 

1H ;?eôB - J/ ftZu gqhfynkoEh s'A gkm eqw ftZu'A gzi gqôB g[ZS/ ikDr/. jo gqôB d' d' nze dk 

j't/rk. fJj gqôB Upi?efNt NkJhg iK ftnkfynk dZ;Dh iK ez fgT{No d/ tZy  tZy fjZf;nK 

ns/ fJ; Bkb i[V/ ;jkfJeK d/ pj[s S'N/ nfGnk; j'Dr/.                 1×10=10    nzenzenzenze 

2H ;?eôB - ph ftZu gqhfynkoEh dk ;bkBk  foekov  u?e ehsk ikt/rk.                  10    nzenzenzenze 

3H ;?eôB - ;h ftZu gzi gqôB $gq'rokw ;?ZN ehs/ ikDr/ fiBQK ftZu'A gqhfynkoEh Bz{ uko 

gq'rokw $ gqôB eoB dh y[Zb j't/rh. jo gq'rokw$gqôB gzi gzi nzeK dk j't/rk, jo/e 

gq'rokw $ gqôB bJh nzdo{Bh nze tzv g/go ;?ZNo eoe/ d/t/rk.                    4444×5=20 nze20 nze20 nze20 nze 

 d[jokJhd[jokJhd[jokJhd[jokJh  

n?e;b 

n?uHNhHn?wHn?bH 

      wkJheo';'cN n;?; L vkNk ;'XBk, n;?; vkNkp/; d/ nkpi?eN 

1. " ;h;h;h;h"     gq'rokgq'rokgq'rokgq'rokwwww 

 ;NoeuoL  rb'pb  fveb/o/;B;, ;h ( C) gq'rokw dk ezgkJhb ns/ bkr{ eoB n?vhNo dh    

tos'A czeôBL fpbN fJB czeôB;, :{÷o gofGkôs czeôB;     

          ckow/Nv nkJh$U czeôB ,g'qrokfwzr Bkb ô[o{nks eoBh L Nop' ;h B{z ;Ekfgs eoBk,  

gqrokw dh ezgkfJfbzr ns/ n?rf÷feT{fNzr, fJz;Nkb/;B, Ugo/No 

    3      3      3      3      ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)ezNo'b cb' (Gkr 1)                  

         fvf;÷B w/fezr ;N/Nw?AN L fJc ;N/Nw?AN(if statement), fJc n?b; ;N/Nw?AN (if else)  

         ;ftu ;N/Nw?AN            

         pq/e ;N/Nw?AN           

         fBozso ;N/Nw?AN \ 

4H ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)ezNo'b cb' (Gkr 2)                     

         ezNo'b b{g ;Noeuo L tkJhb ;N/Nw?AN (While statement), v{ tkJhb (do while),    

         cko ;N/Nw?AN b{g (For Statement loop)  

5H n?o/; (Gkr 1)n?o/; (Gkr 1)n?o/; (Gkr 1)n?o/; (Gkr 1)                   

         n?o/ ftu vkNk gqt/ô eoBk 

         n?o/ ekgh eoBh           

         n?o/ d/ w[ZbK dh gj[zu eoBh 

 n?o/ n?bhw?AN; dk gqpzXB L n?bhw?AN; dk i'V, n?bhw?AN; dk r[DKe-w[Zb, n?bhw?AN; dk 

gq'veN, n?bhw?AN; dk n";sB, TZusw ns/ fBT{Bsw nze bZGDk 

8H n?o/; (Gkr 2)n?o/; (Gkr 2)n?o/; (Gkr 2)n?o/; (Gkr 2)                   

d' vkJhw?BôBb n?o/  dh pDso ns/ fJBhfô:bkJh÷/ôB  

 wbNh vkfJw?BôBb n?o/; L n?bhw?AN; , fJfBô:bkJhi/ôB, d' vkfJw?BôBb n?o,   

fJe-e?o NkJhg fJBg[ZN$ nkT{Ng[N       

9H v?;eNkg gpfbfôzrv?;eNkg gpfbfôzrv?;eNkg gpfbfôzrv?;eNkg gpfbfôzr               
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vke{w?AN; B{z fgqzN eoBk          

fgqzfNzr d/ sohe/ L nkø;?zN fgzqfNzr, c[No fgzqfNzr       

c"AN;            

co/w 

          g/i b/nkT{N           

vke{w?AN gb?fBzr          

w[Zy ;{uBk B{z yk; s"o s/ fdykfJnk ikDk L ;NkJhb, wkoiB, c[No, c"AN�
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6a gzikph (u'DtK ftôk)6a gzikph (u'DtK ftôk)6a gzikph (u'DtK ftôk)6a gzikph (u'DtK ftôk)    
;wKL 3 xzN/;wKL 3 xzN/;wKL 3 xzN/;wKL 3 xzN/                                                fbysh g/goLfbysh g/goLfbysh g/goLfbysh g/goL    90 n90 n90 n90 nzezezeze

                                                                    nKsfoe w[bKeDL 1nKsfoe w[bKeDL 1nKsfoe w[bKeDL 1nKsfoe w[bKeDL 10 nze0 nze0 nze0 nze    

                                                                                        eZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nze    

gkmgkmgkmgkm----eqw ns/eqw ns/eqw ns/eqw ns/    nzenzenzenze----tzvtzvtzvtzv    

bVh BzLbVh BzLbVh BzLbVh BzL    gkmgkmgkmgkm----eqweqweqweqw    nzenzenzenze    

1a gzikph-ekftL- nkX[fBeFekft  39 

2a gzikph tkose L- ;øoBkwk-nzô 27 

3a gzikph Gkôk ns/ r[ow[yh fbgh   12 

4a gzikph dhnK T[gGkôktK dh ôpdktbh 12 

e[Zb nzee[Zb nzee[Zb nzee[Zb nze    99990000    

gqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/yk    

nfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfnfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfnfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfnfXnkgeK, ftfdnkoEhnK, g/go ;?ZNoK ns/ gohfyneK bJh ftô/ô fjdkfJsK.yneK bJh ftô/ô fjdkfJsK.yneK bJh ftô/ô fjdkfJsK.yneK bJh ftô/ô fjdkfJsK. 

gqôB BzL1gqôB BzL1gqôB BzL1gqôB BzL1 ;w[Zu/ gkm-eqw d/ nkXko Ós/ 10 nzeK d/ t;s{-fBôm gqôB g[ZS/ ikDr/.  fJj gqôB 

pj[-u'D, mhe$öbs, õkbh EKtK iK fJZe iK d' ôpdK ftZu T[Zso d/D tkÿ/  j'Dr/.  

nzeK dh tzv j/m fby/ nB[;ko j't/rh L- 

nkX[fBe gzinkX[fBe gzinkX[fBe gzinkX[fBe gzikphkphkphkph----    ekft (MbeK s/ ekft (MbeK s/ ekft (MbeK s/ ekft (MbeK s/ fJfsjk;) GkrfJfsjk;) GkrfJfsjk;) GkrfJfsjk;) Gkr- ---1111    

(T)(T)(T)(T)    nkX[fBenkX[fBenkX[fBenkX[fBe----ekftLekftLekftLekftL 4 nze (d' gqôB ouBk dk eth iK eth dh ouBk Bkÿ ;zpzfXs, d' 

gqôB gkmF  ;wroh Ós/ nkXkfos j'Dr/). 

(n)(n)(n)(n)  nZy] fvZmh d[BhnKL 2nZy] fvZmh d[BhnKL 2nZy] fvZmh d[BhnKL 2nZy] fvZmh d[BhnKL 2 nze (fJZe gqôB ;øoBkwk-nzô d/ b/ye$b/ye ofus 

;øoBkwk-nzô Bkÿ ;zpzfXs, d{ik gqôB ;øoBkwk-nzôK dh gkm -;wroh Ós/ 

nkXkfos j't/rk). 

 ((((JJJJ) ) ) )  GkôGkôGkôGkôk----p'XL p'XL p'XL p'XL 4 nze  

  F fJZe gqôB Gkôk dh pDso iK ftô/ôsktK Gkôk d/ wjZst Bkÿ ;zpzfXs. 

  - fJZe gqôB r[ow[yh fbgh Bkÿ ;zpzfXs. 

  - d' gqôB T[gGkôkJh ôpdktbh Bkÿ ;zpzfXs j'Dr/.                    10%1&10 nze10%1&10 nze10%1&10 nze10%1&10 nze   

gqôB BzL 2gqôB BzL 2gqôB BzL 2gqôB BzL 2  ÒnkX[fBe gzikph-ekft (MbeK s/ fJfsjk;)Ó gkm-g[;se d/ nkX[fBe-ekft  ftZu'A 

uko pzd d/ e/ fe;/ d' dh gq;zr ;fjs ftnkfynk eoB bJh fej k ikt/rk. 

                                                                              7777+7&14 nze&14 nze&14 nze&14 nze 

gqôB BzL 3gqôB BzL 3gqôB BzL 3gqôB BzL 3   ÒnkX[fBe gzikph-ekft (MbeK s/ fJfsjk;)Ó gkm-g[;se ftZu'A e'Jh d' ouBktK dk 

f;ob/y ns/ eth dk BK d/ e/ fe;/ fJZe dk e/Adoh Gkt fbyD bJh fejk ikt/rk.                         

                                                                                                                                                                                                                                                                                                                                                                                                                                            6 nze6 nze6 nze6 nze    

gqôB BzL 4gqôB BzL 4gqôB BzL 4gqôB BzL 4  ÒnkX[fBe gzikph-ekft (MbeK s/ fJfsjk;)Ó gkm-g[;se d/ Ògzikph eftsk dk 

;zy/g fJfsjk;Ó Gkr  ftZu'A e'Jh fszB gqôB d/ e/ fe;/ fJZe dk T[Zso fbyD bJh 

fejk ikt/rk.                                                                            15 nze15 nze15 nze15 nze    
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gqôB BzL 5gqôB BzL 5gqôB BzL 5gqôB BzL 5  ÒnZyhA fvZmh d[BhnKÓ gkm-g[;se  ftZu'A S'N/ T[ZsoK tkÿ/ uko gqôB g[ZS e/ fe;/ d' 

dk T[Zso fbyD bJh fejk ikt/rk.                                     5555+5&10 nze5&10 nze5&10 nze5&10 nze 

gqôB BzL 6gqôB BzL 6gqôB BzL 6gqôB BzL 6  ÒnZyhA fvZmh d[BhnKÓ gkm-g[;se ftZu'A fszB ;øoBkwk-nzô d/ e/ fe;/ fJZe dk ;ko  

                     fbyD bJh fejk ikt/rk.                                                           15  nze15 nze15 nze15 nze                                      

gqôB BzLgqôB BzLgqôB BzLgqôB BzL 7777 ÒGkôk-p'XÓ gkm-g[;se Ós/ nkXkfos, gzikph Gkôk ns/ r[ow[yh fbgh Bkÿ ;zpzfXs 

uko gqôB g[ZS e/ fe;/ d' dk T[Zso fbyD bJh fejk ikt/rk.            5555+5&10 nze&10 nze&10 nze&10 nze 

gqôB BzL 8gqôB BzL 8gqôB BzL 8gqôB BzL 8  ÒGkôk-p'XÓ gkm-g[;se ftZu fdZshnK gzikph dhnK T[gGkôktK dh ôpdktbh Ós/ 

nkXkfos j/m fby/ nB[;ko gqôB g[ZS/ ikDr/- 

  (T)  T[gGkôkJh nZm ôpd d/ e// T[jBK ftZu'A fe;/ gzi dk Ne;kbh gzikph ftZu   

                              o{gKso eoB bJh fejk i kt/rk. 

    (n)  Ne;kbh gzikph d/ nZm ôpd d/ e/ fe;/ gzi dk T[gGkôk ftZu fwÿdk o{g    

                              g[ZfSnk ikt/rk.                                                         5 555+5&10 nze&10 nze&10 nze&10 nze 

fBoXkfos gkmFg[;seKLfBoXkfos gkmFg[;seKLfBoXkfos gkmFg[;seKLfBoXkfos gkmFg[;seKL----    

1. nkX[fBe gzikphFekft (MbeK s/ fJfsjk;)nkX[fBe gzikphFekft (MbeK s/ fJfsjk;)nkX[fBe gzikphFekft (MbeK s/ fJfsjk;)nkX[fBe gzikphFekft (MbeK s/ fJfsjk;)    

2. nZy] fvZmh d[BhnK nZy] fvZmh d[BhnK nZy] fvZmh d[BhnK nZy] fvZmh d[BhnK     

3. GkôkGkôkGkôkGkôk    Fp'XFp'XFp'XFp'X    

gqekôeL gzikp ;e{b f;Zfynk p'ov.gqekôeL gzikp ;e{b f;Zfynk p'ov.gqekôeL gzikp ;e{b f;Zfynk p'ov.gqekôeL gzikp ;e{b f;Zfynk p'ov.    

 
�
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18a 18a 18a 18a XowXowXowXow    
;wKL;wKL;wKL;wKL    3 xzN/3 xzN/3 xzN/3 xzN/                                                                                    fbysh g/goL 9fbysh g/goL 9fbysh g/goL 9fbysh g/goL 90 nze0 nze0 nze0 nze

                                                                        ;ha;haJhaL 1;ha;haJhaL 1;ha;haJhaL 1;ha;haJhaL 10 nze 0 nze 0 nze 0 nze     

                                                                                            eZ[bL 100 nzeeZ[bL 100 nzeeZ[bL 100 nzeeZ[bL 100 nze    

    gqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{g----o/yko/yko/yko/yk        

1a  gqôB gZso ftZu e[Zb 32 gqôB j'Dr/. 

2a ;ko/ gqôB eoB/ bk÷wh j'Dr/. 

3a gqôB gZso uko GkrK ftZu tzfvnk j't/rk.  jo Gkr ;ko/ gkm-eqw s/ nXkfos j't/rk. 

GkrGkrGkrGkr---- I  ftZu d; (10) t;s{fBôm gqôB (1 s'A10) g[ZS/ ikDr/. jo gqôB fJZe nze dk j't/rk. 

t;s{fBôm gqôB fJZe  ôpd s'A fJe tke sZe d/ T[Zso tkb/ iKiKiKiK jK$BK iKiKiKiK ykbh EK Go' iKiKiKiK 

mhe$rbs iKiKiKiK pj[- GKshT[ZsoK tkb/, fe;/ th soPK d/ j' ;ed/ jB.              10%1&1010%1&1010%1&1010%1&10 

GkrGkrGkrGkr---- II ftZu nZm (8) S'N/ T[ZsoK tkb/ (NkJhg I) gqôB (11 s'A 18) g[ZS/ ikDr/.  jo gqôB 2 nze  

dk j't/rk fi;  dk T[Zso 30-35 ôpdK ftZu j't/.                                         8%2&168%2&168%2&168%2&16 

GkrGkrGkrGkr---- III  ftZu d; (10) S'N/ T[ZsoK tkb/ (NkJhg II ) gqôB (19 s'A 28) g[ZS/ ikDr/. jo gqôB 4 nze 

dk j't/rk,  fi; dk T[Zso 60 s'A 70 ôpdK ftZu j't/. 10 gqôBk ftZu'A, fszB gqôB nzdo{Bh 

S'N tkb/ j'Dr/.                                                                                                                                                                                                                                                                                                  10%4&4010%4&4010%4&4010%4&40    

GkrGkrGkrGkr---- IV  ftZu uko(4) nzdo{Bh S'N tkb/ fBpzXkswe gqôB (29 s'A 32) g[ZS/ ikDr/. jo gqôB 6 nze 

dk j't/rk, fi; dk T[Zso, T[Zso gZsoh d/ 1X�  gzB/ s'A 2 gzfBnK dk j't/.              4%6&244%6&244%6&244%6&24 

 

gkmgkmgkmgkm----eqw d/ GkrK nB[;ko gqôBK ns/ nzeK dh tzveqw d/ GkrK nB[;ko gqôBK ns/ nzeK dh tzveqw d/ GkrK nB[;ko gqôBK ns/ nzeK dh tzveqw d/ GkrK nB[;ko gqôBK ns/ nzeK dh tzv    

gkmgkmgkmgkm----eqweqweqweqw    

    

Gkr (T)Gkr (T)Gkr (T)Gkr (T)    

gftZso ftnesgftZso ftnesgftZso ftnesgftZso ftneshnK dhnK ihtBhnKhnK dhnK ihtBhnKhnK dhnK ihtBhnKhnK dhnK ihtBhnK    

fJekJh 1a GrtkB feqôB, GrtkB wjKtho, GrtkB wjkswk pZ[X ns/ ôqh ôzeokukohnk. 

fJekJh 2a :ô{ w;hj ns/ j÷os w[jzwd ;kfjp. 

fJekJh 3a Grs epho, ôqh r[o{ BkBe d/t, ôqh u?szBnK, ôqh r[o{ r'fpzd f;zx ns/ ôqh okw feqôB. 

Gkr (n)Gkr (n)Gkr (n)Gkr (n)    

gftZso rzqEK dk nfXn?gftZso rzqEK dk nfXn?gftZso rzqEK dk nfXn?gftZso rzqEK dk nfXn?BBBB    

fJekJh 1 fJekJh 1 fJekJh 1 fJekJh 1     fjzd{ Xow, i?B Xow ns/ pZ[X XowL fjzd{ Xow, i?B Xow ns/ pZ[X XowL fjzd{ Xow, i?B Xow ns/ pZ[X XowL fjzd{ Xow, i?B Xow ns/ pZ[X XowL     

wjKGkos d/ u'Dt/A nzô, wzB{ f;wosh, ftôBz{ f;wosh, Gkrtdrhsk, T[gfBôd, wjKfBotkD, szso, 

fJjBK rqzEK d/ u'Dt/A nzôK ftZu gq:'r j'J/ ;zebg. 

gqôBK dh fe;wgqôBK dh fe;wgqôBK dh fe;wgqôBK dh fe;w    nze gqsh nze gqsh nze gqsh nze gqsh 

gqôB gqôB gqôB gqôB     

gqôBK dh gqôBK dh gqôBK dh gqôBK dh 

frDshfrDshfrDshfrDsh    

gkmgkmgkmgkm----eqw d/ GkrK nB[;ko gqôBK dh eqw d/ GkrK nB[;ko gqôBK dh eqw d/ GkrK nB[;ko gqôBK dh eqw d/ GkrK nB[;ko gqôBK dh 

tzvtzvtzvtzv    

e[Zb e[Zb e[Zb e[Zb 

nzenzenzenze    

Gkr ÒTÓGkr ÒTÓGkr ÒTÓGkr ÒTÓ    Gkr ÒnÓGkr ÒnÓGkr ÒnÓGkr ÒnÓ    

t;s{ fBôm 1 nze  10 5  5 10101010    

S'N/ T[ZsoK tkb/ (NkJhg I) 2 nze 08 3 5 16161616    

S'N/ T[ZsoK tkb/ (NkJhg II ) 4 nze 10 5 5 40404040    

tZv/ T[ZsoK tkb/  6 nze 04 2 2 24242424    

e[Zbe[Zbe[Zbe[Zb    32323232    15151515    17171717    90909090    
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nukozr-;{so, egb ;{so, T[Zso fXnkB ;{so, ;zB:ks fBekfJ nk, Xwgd, wfXnkfwek, wjK 

tBrk, wjK wzrb ;{so, p[Xufonk ntsko, nojs dk ;zebg,  nôNKr wkor, p'Xh ;st, ;zx, gzu 

;ezX, fBotkD. 

fJekJh 2fJekJh 2fJekJh 2fJekJh 2    i[vkfJ÷w, fJ;kJh ws ns/ fJ;bkwLi[vkfJ÷w, fJ;kJh ws ns/ fJ;bkwLi[vkfJ÷w, fJ;kJh ws ns/ fJ;bkwLi[vkfJ÷w, fJ;kJh ws ns/ fJ;bkwL    

g[okDh pkJhpb d/ u'Dt/A nzô, d; nkd/ô, BthA pkJhpb d/ u'Dt/A nzô, nZbQk dk ;zebg.  

fJekJh 3fJekJh 3fJekJh 3fJekJh 3    f;Zy XowLf;Zy XowLf;Zy XowLf;Zy XowL    

ôqh r[o{ BkBe d/t ih, ôqh r[o{ nwodk; ih, ôqh r[o{ okwdk; ih, ôqh r[o{ noiB d/t ih, ôqh r[o{ s/r 

pjkdo ih, pkpk ô/y cohd ih, Grs epho ih, Grs oftdk;   ih, Grs XzBk ih, ôqh r[o{ r'fpzd 

f;zx ih d/ ôpd, u'DthnK ouBktK ftZu gq:[es  ;zebg. 
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4. The question paper will consist of three parts with each part representing both 
sections. 
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�
���+,��
26a 26a 26a 26a G{r'bG{r'bG{r'bG{r'b    

                        ;wKL 3 xzN/;wKL 3 xzN/;wKL 3 xzN/;wKL 3 xzN/                                                                                                                                                                                                                                                                                fbysh g/go L 7fbysh g/go L 7fbysh g/go L 7fbysh g/go L 70 nze0 nze0 nze0 nze    

                                                                                                                                                                                                                                                                                                                    nKsfoe w[bKeD L nKsfoe w[bKeD L nKsfoe w[bKeD L nKsfoe w[bKeD L 11110 nze                       0 nze                       0 nze                       0 nze                       

gq?eNheb L 20 nzegq?eNheb L 20 nzegq?eNheb L 20 nzegq?eNheb L 20 nze    

                                                                                                                                                                                                                                                                                                                                                                                e[ZbL 100 nzee[ZbL 100 nzee[ZbL 100 nzee[ZbL 100 nze    

gqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/yk    

1. gfjb/ gqôB d/ nZm T[g Gkr j'Dr/ fiBQK d/ T[Zso ���������	 �
��	 j'Dr/. jo T[Zg Gkr fJe 

nze dk j't/rk s/ jo T[Zso dh bzpkJh fJe ôpd sA' fJe tke sZe iK �
������	 ������	 fe;w 

dh j' ;e/rh. T[g Gkr d/ xZN'FxZN d' gqôB jo :{fBN ftZu'A ;?ZN ehs/ ikDr/.      1%8&81%8&81%8&81%8&8    

2. d{;o/ gqôB d/ nZm T[g Gkr j'Dr/ ns/ jo T[g Gkr 2 nzeK dk j't/rk. T[Zso dh bzpkJh 2 s'A 3 

tkeK ftukb/ j't/rh s/ T[g Gkr d/ 2 gqôB jo :{fBN ftZu'A ;?ZN ehs/ ikDr/.       2%8&162%8&162%8&162%8&16 

3. sh;o/ gqôB d/ nZm T[g Gkr j'Dr/ fiBQK ftZu'A gzi d/ T[Zso 60 s'A 80 ôpdK ftZu d/D/ j'Dr/. 

jo T[g Gkr 4 nzeK dk j't/rk s/ xZN'FxZN d' gqôB jo :{fBN ftZu' ;?ZN ehs/ ikDr/.                              

                                                                                                       4%5&204%5&204%5&204%5&20    

4. gqôB Bzpo 4 s'A 6 sZe i'V/ gqôB j'Dr/ fiBQK d/ jo i'V/ ftZu'A fJZe gqôB dk itkp d/Dk ÷o{oh  

j't/rk. jo gqôB S/ nzeK dk j't/rk s/  T[Zso dh bzpkJh 150 s'A 250  ôpdK ftZu oZyDh j't/rh. 

jo i'V/ gqôBK d/ xZN'FxZN d' i'V/ fJZe :{fBN ftZu'A ÷o{o ;?ZN ehs/ ikDr/.                6%3&186%3&186%3&186%3&18 

5. gqôB Bzpo 7, Gkos d/ Beô/ Bkb ;pzXs j'Dr/.                                          1%4&41%4&41%4&41%4&4    

6. gqôB Bzpo 8, ;z;ko d/ Beô/ Bkb ;pzXs j't/rk.                                         1%4&41%4&41%4&41%4&4 

B'NLB'NLB'NLB'NL    B/sojhD ftfdnkoEh Beôk GoB dh EK fJjBK ;EkBK, e/AdoKB/sojhD ftfdnkoEh Beôk GoB dh EK fJjBK ;EkBK, e/AdoKB/sojhD ftfdnkoEh Beôk GoB dh EK fJjBK ;EkBK, e/AdoKB/sojhD ftfdnkoEh Beôk GoB dh EK fJjBK ;EkBK, e/AdoK    dh ;fEsh ;gôN o{g dh ;fEsh ;gôN o{g dh ;fEsh ;gôN o{g dh ;fEsh ;gôN o{g 

ftZu fbyDr/.ftZu fbyDr/.ftZu fbyDr/.ftZu fbyDr/.    
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ôq/Dhôq/Dhôq/Dhôq/Dh----frnkoPt]frnkoPt]frnkoPt]frnkoPt]    

30a  wkvfbzr ns/ w{oshebk (pZ[sekoh)30a  wkvfbzr ns/ w{oshebk (pZ[sekoh)30a  wkvfbzr ns/ w{oshebk (pZ[sekoh)30a  wkvfbzr ns/ w{oshebk (pZ[sekoh)    
1������')�$'������������

�
;wK L 8 xzN/    ;wK L 8 xzN/    ;wK L 8 xzN/    ;wK L 8 xzN/                                                                                    eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100    

B'N LB'N LB'N LB'N L----    fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NfJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NfJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NfJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/N----ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko 

fbnk ikt/rk.fbnk ikt/rk.fbnk ikt/rk.fbnk ikt/rk.    

                                        nzeK dh tzvnzeK dh tzvnzeK dh tzvnzeK dh tzv    

  gq:'rh gqhfynk    & 90 nze 

  ;ha;haJha    & 10 nze 

  e[Zb nze    & 100 nze 

  gk; nze    & 33 nze 

    

gfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkr---- I ))))            ;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/                ;?ôBL;?ôBL;?ôBL;?ôBL    ;t/o;t/o;t/o;t/o    

d{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkr---- II ))))            ;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/                ;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw    

    

                                                                                                                                                                            GkrGkrGkrGkr---- I                                                                                                                                                                                                         nzeL 3nzeL 3nzeL 3nzeL 38888    

fsnko ehsh fwZNh d[nkok nkgDh :kd ôesh nB[;ko gzSh, izrbh ikBto, gô{ ns/ wB[Zyh ;oho d/ 

wkvb fsnko eoB/. 

                                                                                                                                                                            GkrGkrGkrGkr---- II                                                                                                                                                                                                         nzeL 3nzeL 3nzeL 3nzeL 38888 

n;b ôeb do;kT[Ad/ ezB, BZe, p[ZbP, nZy, jZE, g?o, fujok ns/ f;o d/ wkvb pDkT[D/.                     

                                                                                                                                                                            GkrGkrGkrGkr---- III                                                             nzeL 1nzeL 1nzeL 1nzeL 14444                          

;?ôBb ezw;?ôBb ezw;?ôBb ezw;?ôBb ezw                  

;ko/ ;kb ftZu fsnko ehshnK xZN'-xZN thj ebkefoshnK (p[Zs) i' fe gq:'rh gqhfyne u?Ze eo/rk 

ns/ nze bkt/rk.  gq:'rh gqhfyne d[nkok ftô/ ;pzXh ipkBh gqôB th g[ZS/ ik ;ed/ jB. 

 

gqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{g----o/yko/yko/yko/yk$$$$Structure of Question Paper 

wkvfbzr ns/ w{oshebk (pZ[sekoh)wkvfbzr ns/ w{oshebk (pZ[sekoh)wkvfbzr ns/ w{oshebk (pZ[sekoh)wkvfbzr ns/ w{oshebk (pZ[sekoh)$$$$Modelling and Sculpture    

                                                                                                                                                                                                                                                                                                                                                                                            e[Zb nz e L e[Zb nze L e[Zb nze L e[Zb nze L 100100100100    

                                                                                                                                                                                    GkrGkrGkrGkr---- I             nze L 3nze L 3nze L 3nze L 38888    

 fJj g/go gq:'rh v/N ôhN nB[;ko gqhfyne okj] fbnk ikt/rk.  fJj ;t/o d/ ;?ôB ftZu 

j't/rk ns/ fJ;d/ 38 nze j'Dr/.  fJ; dk ;wK uko xzN/ j't/rk.  fJ; ftZu gZs/, c[Zb, gzSh, ikBto 

ns/ wB[Zyh ôoho fwZNh d[nkok fsnko ehs/ ikDr/. 

                                                                                                                                                                                GkrGkrGkrGkr---- II                      nzeL nzeL nzeL nzeL 38 

 fJj g/go ôkw d/ ;?ôB ftZu j't/rk.  fJ; dk ;wK uko xzN/ ns/ fJj g/go 38 nzeK dk 

j't/rk.  fJ; ftZu fwZNh d[nkok ezB, BZe, nZy, jZE, p[ZbP, g?o, fujok ns/ f;o dk n;b ôeb 

do;kT[Adk wkvb fsnko ehsk ikt/rk.    

                                                                                                                                                                                    GkrGkrGkrGkr---- III                                                               nzeL 14nzeL 14nzeL 14nzeL 14                          

;?ôBb ezw;?ôBb ezw;?ôBb ezw;?ôBb ezw                 

 d'BK ;?ôBK d/ ftueko fJZe xzN/ dh S[ZNh j't/rh.  T[; d"okB ;?ôBb ezw u?e eoe/ w[bKeD 

ehsk ikt/rk.  fJj 14 nzeK dk j't/rk.  fJ; ftZu gkm-eqw nB[;ko e'Jh thj fwZNh d/ wkvb i' fe 

gqhfynkoEh tZb'A fsnko ehs/ j'D dk w[bKeD ehsk ikt/rk.   
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ôq/Dhôq/Dhôq/Dhôq/Dh----frnkoPt]frnkoPt]frnkoPt]frnkoPt]    

31313131a  fiT[w?Noheb gok;g?a  fiT[w?Noheb gok;g?a  fiT[w?Noheb gok;g?a  fiT[w?Noheb gok;g?efNt efNt efNt efNt ns/ns/ns/ns/    nkoehN?euobnkoehN?euobnkoehN?euobnkoehN?euob    vokfJzrvokfJzrvokfJzrvokfJzr        
(��������$��8��������"��$'�������������$��
�$A�')�

;wK L 4 xzN/ ;wK L 4 xzN/ ;wK L 4 xzN/ ;wK L 4 xzN/                 eZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nze    

                                                                                                                                                                    nzeK dh tz vnzeK dh tzvnzeK dh tzvnzeK dh tzv    

  fET{oh     & 90 nze 

  ;ha;haJha    & 10 nze 

  e[Zb nze    & 100 nze 

  gk; nze    & 33 nze 

 

                                      GkrGkrGkrGkr---- �                                                                                                                                                         nze L nze L nze L nze L 44445555�

                                                                                                                                                            fiT{w?Noheb ns/ ftZE ;'Mh vokfJzrfiT{w?Noheb ns/ ftZE ;'Mh vokfJzrfiT{w?Noheb ns/ ftZE ;'Mh vokfJzrfiT{w?Noheb ns/ ftZE ;'Mh vokfJzr    
                                                    Geometrical Perspective Drawing   

      

1a1a1a1a    fiT[w?Noheb fiT[w?Noheb fiT[w?Noheb fiT[w?Noheb vokfJzrvokfJzrvokfJzrvokfJzr                                    nze L nze L nze L nze L 16161616    

B'N L B'N L B'N L B'N L fJ; Gkr ftZu uko gqôB ;Z?N ehs/ ikDr/.  fijBK ftZu'A d' gqôB jZb eoB/ bk÷wh fJ; Gkr ftZu uko gqôB ;Z?N ehs/ ikDr/.  fijBK ftZu'A d' gqôB jZb eoB/ bk÷wh fJ; Gkr ftZu uko gqôB ;Z?N ehs/ ikDr/.  fijBK ftZu'A d' gqôB jZb eoB/ bk÷wh fJ; Gkr ftZu uko gqôB ;Z?N ehs/ ikDr/.  fijBK ftZu'A d' gqôB jZb eoB/ bk÷wh 

j'Dr/.j'Dr/.j'Dr/.j'Dr/.    

(1) o/yktK ns/ e'DK ;pzXh gqôB. 

(2) fse'DK ns/ us[oG[iK ;pzXh ;"y/ gqôB. 

(3) pj[-G[iK ;pzXh gqôB (gzi G[i s'A nZm G[i sZe) 

(4) nzsoh ns/ pkjoh nkekoK ;pzXh gqôB.  fJ; ftZu fse'DK, tor, ;wus[oG[i ns/ pj[-G[iK 

;pzXh gqôB j'Dr/. 

(5) fse'DK, nkfJs ns/ uZeoK d/ y/socb pkopo nkekoK ;pzXh gqôB. 

      
2a2a2a2a    m'; ns/ fBZro fiT{w?Noh m'; ns/ fBZro fiT{w?Noh m'; ns/ fBZro fiT{w?Noh m'; ns/ fBZro fiT{w?Noh (Solid Geometry)� (÷o{oh)(÷o{oh)(÷o{oh)(÷o{oh)�� � ������������ nze L nze L nze L nze L 9999    

    i)    m'; nkeko fit/A fse'D, tor, pj[G[iktK ns/ r'ÿ/ d/ sb ns/ wZ Ek pDkT[Dk. 

 ii) XY o/yk Bkb e'D pDkT[Ad/ nkekoK dk sb ns/ wZEk pDkT[Dk. 

 

3a3a3a3a    ftZE ;'Mh vokfJzr ftZE ;'Mh vokfJzr ftZE ;'Mh vokfJzr ftZE ;'Mh vokfJzr #8��������"��
�$A�')%     (÷o{oh)(÷o{oh)(÷o{oh)(÷o{oh)� ���������������������� nze nze nze nze 20202020    

i) ftZE ;'Mh dh gfoGkôk fit/A LftZE ;'Mh dh gfoGkôk fit/A LftZE ;'Mh dh gfoGkôk fit/A LftZE ;'Mh dh gfoGkôk fit/A L----    ;wkBzso ftZE ;'Mh, e'fDe ftZE ;'Mh, fuZso sb, 

fuZso Xoksb,  doôe dh nZy, wkg fpzd{, b'g fpzd{, e/Ado fpzd{ nkfd. 

ii)  xD 2!���4  xD y/so 2��
�$4  nzro/÷h d/ tZv/ nZyo fijBK d/ Bkg fdZs/ j'J/ 

j'D d/ ;wkBKso ns/  e'fDe ftZE ;'Mh fuZso pDkT[D/. 

 

                                                                                                                                                                                        GkrGkrGkrGkr---- II                                                                                                                                                                                     nze L nze L nze L nze L 44445555 

                                                                                                                                                                        nkoehN?eu ob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzr    
                                                       Architectural Drawing     

        fe;/ fJZe wz÷b/ fojkfJôh ns/ xZN youhb/ wekB (xo) dk wZEk (Elevation) gk;k 

(Side) ns/ sb ( Plan) pDkT[Dk.  fit/A wekB dk fuZso g/go ;?No tZb'A bzpkJh, u"VkJh, T[ukJh 

ns/ j'o wkgK nB[;ko fdZsk ikt/rk.  
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gqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{g----o/yko/yko/yko/yk    #�������������7������'�8$���%  

fiT[w?Noheb gok;g?efNt fiT[w?Noheb gok;g?efNt fiT[w?Noheb gok;g?efNt fiT[w?Noheb gok;g?efNt ns/ns/ns/ns/    nkoehN?euob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzr        

(��������$��8��������"��$'�������������$��
�$A�')�

;wK L 4 xzN/;wK L 4 xzN/;wK L 4 xzN/;wK L 4 xzN/                                                                        fET{oh L fET{oh L fET{oh L fET{oh L 99990 nze0 nze0 nze0 nze    

                                                                                                ;ha;haJha L ;ha;haJha L ;ha;haJha L ;ha;haJha L 11110 nze0 nze0 nze0 nze    

                                                                                e[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nze    

                                                                                                                                                

                                                                                                                                                                                                            GkrGkrGkrGkr---- I                                                                                                                          nze L nze L nze L nze L 44445555    

fiT[w?NfiT[w?NfiT[w?NfiT[w?Noheb ns/ ftZE ;'Mh vokfJzroheb ns/ ftZE ;'Mh vokfJzroheb ns/ ftZE ;'Mh vokfJzroheb ns/ ftZE ;'Mh vokfJzr                        

fiT[w?Noheb vokfJzrfiT[w?Noheb vokfJzrfiT[w?Noheb vokfJzrfiT[w?Noheb vokfJzr                                                                            nze L 1nze L 1nze L 1nze L 16666    

 fJ; Gkr ftZu g/go ;?No uko gqôB ;?ZN eo/rk, fijBK ftZu'A gqhfynkoEh B/ d' gqôB jZb 

eoB/ jB i' 8-8 nzeK d/ j'Dr/. 

m'; ns/ fBZro fiT[w?Nohm'; ns/ fBZro fiT[w?Nohm'; ns/ fBZro fiT[w?Nohm'; ns/ fBZro fiT[w?Noh                                                                                nze L nze L nze L nze L 9999    

fJ; Gkr ftZu g/go ;?No d' gqôB ;?ZN eo/rk fijBK ftZu'A fJZe gqôB jZb eoBk ÷o{oh j't/rk,  

i' 9 nzeK dk j't/rk. 

ftZE ;'Mh vokfJzrftZE ;'Mh vokfJzrftZE ;'Mh vokfJzrftZE ;'Mh vokfJzr                                                                                                                                                                                nze L nze L nze L nze L 20202020    

    fJ; Gkr ftZu g/go ;?No tZb'A fJZe jh gqôB ;?ZN ehsk ikt/rk, i' eoBk ÷o{oh j't/rk. 

 

nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL----    

  pDktN        & 9 nze 

  mhe frDshnK ns/ mhe vokfJzr    & 5 nze 

  ;e/b vokfJzr       & 3 nze 

  o/yktK        & 3 nze 

  e[Zb         &20 nze 

 

                                                                                                                          GkrGkrGkrGkr---- II                                  nze L nze L nze L nze L 44445555    
 
nkoehN?euob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzrnkoehN?euob vokfJzr    

    fJ; Gkr ftZu g/go ;?ZNo tZb'A fJZe jh gqôB ;?ZN ehsk ikt/rk, i' eoBk ÷o{oh j't/rk. 

 

nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL----    

  wZEk (Elevation)      & 13 nze 

  gk;k (Side)       & 13 nze 

  sb ( Plan)       & 13 nze 

  fbykJh ns/ wkg (W + S)     & 6 nze 

  e[Zb         &45 nze 

ekr÷ dk wkgLekr÷ dk wkgLekr÷ dk wkgLekr÷ dk wkgL----    ¼  (35 ;?Aawha % 25 ;?Aawha)(35 ;?Aawha % 25 ;?Aawha)(35 ;?Aawha % 25 ;?Aawha)(35 ;?Aawha % 25 ;?Aawha)    
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ôq/Dhôq/Dhôq/Dhôq/Dh----frnkoPt]frnkoPt]frnkoPt]frnkoPt]    

33332222a  ewoôhnb nkoNa  ewoôhnb nkoNa  ewoôhnb nkoNa  ewoôhnb nkoN    
��������$������

;wK L 8 xzN/    ;wK L 8 xzN/    ;wK L 8 xzN/    ;wK L 8 xzN/                                                                                                                                                eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100    

    

B'N LB'N LB'N LB'N L----    fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/Ns v/Ns v/Ns v/N----ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko 

fbnkfbnkfbnkfbnk    ikt/rk.ikt/rk.ikt/rk.ikt/rk.    

nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL----    

  gq:'rh gqhfynk             & 90 nze 

  ;ha;haJha             & 10 nze 

  e[Zb nze            & 100 nze 

  gk; nze             & 33 nze 

    

gfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkr---- I ))))                ;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/                

    ;?ôBL ;t/o;?ôBL ;t/o;?ôBL ;t/o;?ôBL ;t/o    

d{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkr---- II ))))                ;wKL 4;wKL 4;wKL 4;wKL 4    xzN/xzN/xzN/xzN/                

    ;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw    

    

                                                                                                                                                        GkrGkrGkrGkr---- I                                                                                                                                                     nzeL 3nzeL 3nzeL 3nzeL 38888         

b//b//b//b//----nkT[N vhikfJfBzrnkT[N vhikfJfBzrnkT[N vhikfJfBzrnkT[N vhikfJfBzr�#
$�����
���)'�')%                                                                                 

���%    fjzdh, gzikph iK nzro/÷h ftZu tZv/ tZv/ nZyoK ftZu fbykJh eoBk.fjzdh, gzikph iK nzro/÷h ftZu tZv/ tZv/ nZyoK ftZu fbykJh eoBk.fjzdh, gzikph iK nzro/÷h ftZu tZv/ tZv/ nZyoK ftZu fbykJh eoBk.fjzdh, gzikph iK nzro/÷h ftZu tZv/ tZv/ nZyoK ftZu fbykJh eoBk.    

 fit/A L-  ih nkfJnk ù, ������� , G�?!-+�  

�#��%    ;kXkoB feskpK d/ eto fuZsoK d/ ;kXkoB b/;kXkoB feskpK d/ eto fuZsoK d/ ;kXkoB b/;kXkoB feskpK d/ eto fuZsoK d/ ;kXkoB b/;kXkoB feskpK d/ eto fuZsoK d/ ;kXkoB b/----nkT{N fsnko eoB/.nkT{N fsnko eoB/.nkT{N fsnko eoB/.nkT{N fsnko eoB/.    

    

whvhnw Lwhvhnw Lwhvhnw Lwhvhnw L----    g';No ebo.g';No ebo.g';No ebo.g';No ebo.    

                                                                                                                                                                Gkr Gkr Gkr Gkr ----    II                                                                                                                                                             nze L 3nze L 3nze L 3nze L 38888    

g';No pDkT[D/ g';No pDkT[D/ g';No pDkT[D/ g';No pDkT[D/ #8������1$2�')%                                                                                                                                                                                                                                                                                                                 

tgkoe t;s{nK dh wôj{oh ;zpzXh g';No fsnko eoB/.tgkoe t;s{nK dh wôj{oh ;zpzXh g';No fsnko eoB/.tgkoe t;s{nK dh wôj{oh ;zpzXh g';No fsnko eoB/.tgkoe t;s{nK dh wôj{oh ;zpzXh g';No fsnko eoB/.    

fit/A - o?Zv b/pb ukj 21� �?�����5��4     

be; ;kpD 2?E
��-0�4     

ekr÷ dk wkg L- g{o/ ekr÷ dk 1$4 fjZ;k (35 ;?Aa wha × 25 ;?Aawha)    

                                                                                                                                                                    Gkr Gkr Gkr Gkr ----    III                                                                                                                     nze L nze L nze L nze L 14141414    

;?ôBb ezw;?ôBb ezw;?ôBb ezw;?ôBb ezw                        

 ;ko/ ;kb ftZu fsnko ehshnK xZN'-xZN 20 ebk feqshnK i' fe gqhfynkoEh tZb'A fsnko 

ehshnK j'D dk w[bKeD ehsk ikt/rk.   

B'N LB'N LB'N LB'N L    vokfJzr ôhNK ns/ g/AfNzr dk ;kok ;wkB gqhfnkoEh y[d Bkb b? vokfJzr ôhNK ns/ g/AfNzr dk ;kok ;wkB gqhfnkoEh y[d Bkb b? vokfJzr ôhNK ns/ g/AfNzr dk ;kok ;wkB gqhfnkoEh y[d Bkb b? vokfJzr ôhNK ns/ g/AfNzr dk ;kok ;wkB gqhfnkoEh y[d Bkb b? e/ nkt/rk.e/ nkt/rk.e/ nkt/rk.e/ nkt/rk.    

    

                                                gqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{g----o/yko/yko/yko/yk    #�������������7������'�8$���%�

                                ewoôhnb nkoNewoôhnb nkoNewoôhnb nkoNewoôhnb nkoN    #��������$�����%     

;wK L 8 xzN/;wK L 8 xzN/;wK L 8 xzN/;wK L 8 xzN/                                                                                                e[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nze    

                                                                                                                                            nzeK dh tzvnzeK dh tzvnzeK dh tzvnzeK dh tzv    

    gq:'rh gqhfynk   L 90 nze 

    ;ha;haJha   L 10 nze 

    e[Zb    L 100 nze 

    gk; nze   L 33 nze 
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                                                                                                                                                                                                    Gk rGkrGkrGkr---- I                              nze L 3nze L 3nze L 3nze L 38888 

1. fJj g/go gq:'rh v/N-ôhN nB[;ko gq:'rh gqhfyne tZb'A fbnk ikt/rk. gfjb/ ;t/o d/ ;?ôB 

ftZu b/-nkT{N  fv÷kJhfBzr ;pzXh gqôB j'Dr/.  fJj g/go uko xzN/ dk j't/rk.  fJ; d/ e[Zb 

38 nze j'Dr/.  fJ; ftZu fszB gqôB ;?ZN eoB/ j'Dr/.  ftfdnkoEh tZb'A e'Jh fJZe gqôB jZb 

eoBk j't/rk. 

 

                                                                                                                                                                        GkrGkrGkrGkr---- II                 nze L 3nze L 3nze L 3nze L 38888    

    

2a d{i/ ôkw d/ ;?ôB ftZu g';No fvikJhfBzr dk g/go j't/rk.  fJj g/go th T[go'es nB[;ko 

38 nzeK dk j't/rk. fJ; dk ;wK uko xzN/ j't/rk.  gqhfynkoEh tZb'A e'Jh fJZe gqôB jZb 

eoBk j't/rk.   

3. g/go dk ;kJh÷Lg/go dk ;kJh÷Lg/go dk ;kJh÷Lg/go dk ;kJh÷L----    g{o/ ekr÷ dk g{o/ ekr÷ dk g{o/ ekr÷ dk g{o/ ekr÷ dk 1111$$$$4444    fjZ;k (35 ;?Aa wha fjZ;k (35 ;?Aa wha fjZ;k (35 ;?Aa wha fjZ;k (35 ;?Aa wha ×    25 ;?Aawha)25 ;?Aawha)25 ;?Aawha)25 ;?Aawha)    

                                                                                                                                                                            GkrGkrGkrGkr---- III                    nze L nze L nze L nze L 14141414    

    

;?ôBb ezw;?ôBb ezw;?ôBb ezw;?ôBb ezw                 

 d'BK ;?ôBK d/ ftueko fJZe xzN/ dh S[ZNh j't/rh.  T[; d"okB ;?ôBb ezw u?e eoe/ w[bKeD 

ehsk ikt/rk.  fJj 14 nzeK dk j't/rk. ;ko/ ;kb ftZu fsnk o ehshnK xZN'-xZN 20 ebk feqshnK 

i' fe gqhfynkoEh tZb'A fsnko ehshnK j'D dk w[bKeD ehsk ikt/rk.   

 

B'NLB'NLB'NLB'NL----    vokfJzr ôhNK ns/ g/fNzr dk j'o ;kok ;kwkB gqhfynkoEh õ[d Bkb b? e/ vokfJzr ôhNK ns/ g/fNzr dk j'o ;kok ;kwkB gqhfynkoEh õ[d Bkb b? e/ vokfJzr ôhNK ns/ g/fNzr dk j'o ;kok ;kwkB gqhfynkoEh õ[d Bkb b? e/ vokfJzr ôhNK ns/ g/fNzr dk j'o ;kok ;kwkB gqhfynkoEh õ[d Bkb b? e/ 

nkt/rk.nkt/rk.nkt/rk.nkt/rk.    
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ôq/Dhôq/Dhôq/Dhôq/Dh----frnkoPt]frnkoPt]frnkoPt]frnkoPt]    

33333333a  vokfJzr ns/ fuZsoebka  vokfJzr ns/ fuZsoebka  vokfJzr ns/ fuZsoebka  vokfJzr ns/ fuZsoebk    
                
�$A�')�$'��8$�'��')�

;wK L 8 x;wK L 8 x;wK L 8 x;wK L 8 xzN/ zN/ zN/ zN/                                                     eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100eZ[b nze L 100    

B'NL fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NB'NL fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NB'NL fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/NB'NL fJj g/go g{oB gq:'rh W ns/ gq:'rh gqhfyne okj] p'ov tZb'A fB:s v/N----ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko ôhN nB[;ko 

fbnk ikt/rk.fbnk ikt/rk.fbnk ikt/rk.fbnk ikt/rk.    

nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL----    

 gq:'rh gqhfynk   L 90 nze 

 ;ha;haJha   L 10 nze 

 e[Zb    L 100 nze 

 gk; nze   L 33 nze    

gfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkrgfjbk g/go (Gkr---- I ))))            ;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/            ;?ôBL ;t/o;?ôBL ;t/o;?ôBL ;t/o;?ôBL ;t/o    

d{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkrd{ik g/go (Gkr---- II ))))            ;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/;wKL 4 xzN/            ;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw;?ôBL ôkw    

                                                                                                                                                                        GkrGkrGkrGkr---- I                                                              nzenzenzenze    L 3L 3L 3L 38888 

cohj?Av ;[szso ;t?cohj?Av ;[szso ;t?cohj?Av ;[szso ;t?cohj?Av ;[szso ;t?----gqrNktk ns/ vh÷kJhB gqrNktk ns/ vh÷kJhB gqrNktk ns/ vh÷kJhB gqrNktk ns/ vh÷kJhB #6���� &$'�� ����� �H�������'� $'��

���)' 4�����  
;e?fuzr ns/ pDktN L;e?fuzr ns/ pDktN L;e?fuzr ns/ pDktN L;e?fuzr ns/ pDktN L---- e[dos ns/ ihtB nB[;ko gzSh, ikBto, wB[Zyh nkeko d/ fuZso fsnko 

eoB/. 

iKiKiKiK    

Xosh fdqô fuZsoB Xosh fdqô fuZsoB Xosh fdqô fuZsoB Xosh fdqô fuZsoB #
$'���$���8$�'��')%     

nkgDh :kd ôesh d[nkok gjkV, Mhb, M"AgVh, dfonk, xo ns/ doZõs nkfd d/ fuZsoK Bz{ gq:'r eoe/ 

e[dosh fdqô fsnko eoB/. 

whvhnw Lwhvhnw Lwhvhnw Lwhvhnw L----    g/;Nb, gkDh tkb/ ozr ns/ s/b tkb/ ozrg/;Nb, gkDh tkb/ ozr ns/ s/b tkb/ ozrg/;Nb, gkDh tkb/ ozr ns/ s/b tkb/ ozrg/;Nb, gkDh tkb/ ozr ns/ s/b tkb/ ozr    

iKiKiKiK    

vh÷kfJB vh÷kfJB vh÷kfJB vh÷kfJB #
���)'%     

fiT[w?Noheb nkeko fit/A tor, nkfJs, fse'D ns/ uZeo ftZu  cZ[b-gZshnK,  v'vhnK ns/ 

NkjDhnK gq:'r eoe/ ;[zdo fv÷kJhB pDkT[D/. 

B'N LB'N LB'N LB'N L    f;oø gkDh tkb/ ozr.f;oø gkDh tkb/ ozr.f;oø gkDh tkb/ ozr.f;oø gkDh tkb/ ozr.    

                                                                                                                                                                                Gkr Gkr Gkr Gkr ----    II ������������������������������     nzeL 3nzeL 3nzeL 3nzeL 38888                    

wkvb vokfJzr wkvb vokfJzr wkvb vokfJzr wkvb vokfJzr #������
���%                                         

e'Jh fszB t;s{nK Bz{ fJeZmhnK oZye/ fuZsoB eoBk.  fJjBK ftZu fJZe torkeko iK nkfJskeko 

ns/ pkeh d' t;s{nK r'b, nzvkeko iK ;bzvo nkeko j'D.  wkvb d/ fgZS/ vokgoh ;?ZN ehsh ikt/.  

wkvb vokfJzr ftZu SkfJnk s/ goSkfJnk (Light and Shade) fdykJh ikt/. 

wkfXnw - g?Bf;b ozr, g/;Nb ozr, gkDh tkb/ ozr, s/b tkb/ ozr. 

                                                                                                                                                                                                    Gkr Gkr Gkr Gkr ----    ���                                                                                                                                                                 nze L 1nze L 1nze L 1nze L 14444    

;?ôBb ezw;?ôBb ezw;?ôBb ezw;?ôBb ezw                                                    

xZN'-xZN 20 wkvb i' fe gqhfynkoEh tZb'A ;ko/ ;kb ftZu fsnko ehs/ j'D dk w[bKeD ehsk 

ikt/rk.   

B'N LB'N LB'N LB'N L----    vokfJzr ôhNK ns/ ozr gqhfynkoEh õ[d Bkb b? e/ nkt/rk. vokfJzr ôhNK ns/ ozr gqhfynkoEh õ[d Bkb b? e/ nkt/rk. vokfJzr ôhNK ns/ ozr gqhfynkoEh õ[d Bkb b? e/ nkt/rk. vokfJzr ôhNK ns/ ozr gqhfynkoEh õ[d Bkb b? e/ nkt/rk.     

 

gqôB gqôB gqôB gqôB gZso dh o{ggZso dh o{ggZso dh o{ggZso dh o{g----o/yko/yko/yko/yk    #�������������7������'�8$���%�

vokfJzr ns/ fuZsoebk vokfJzr ns/ fuZsoebk vokfJzr ns/ fuZsoebk vokfJzr ns/ fuZsoebk #
�$A�')�$'��8$�'��')%�

;wK L 8 xzN/;wK L 8 xzN/;wK L 8 xzN/;wK L 8 xzN/                                                                            e[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nzee[Zb L 100 nze    

                        nzeK dh tzvnzeK dh tzvnzeK dh tzvnzeK dh tzv    

            gq:'rh gqhfynk   L 90 nze 

   ;ha;haJha   L 10 nze 

   e[Zb    L 100 nze 

   gk; nze   L 33 nze 
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                                                                                                                                                                        GkrGkrGkrGkr---- I                                              nze L 3nze L 3nze L 3nze L 38888  

1. fJj g/go gq:'rh v/N-ôhN nB[;ko gq:'rh gqhfyne tZb'A fbnk ikt/rk. fJ; Gkr ftZu gkm-

eqw nB[;ko gq:'rh gqhfyne ;e?fuzr, cohj?Av vokfJzr ns/ fv÷kJhB ;pzXh fszB gqôB ;?ZN 

eo/rk, fi; ftZu'A gqhfynkoEh nkgDh u'D nB[;ko fJZe gqôB jZb eo/rk i' 38 nzeK dk 

j't/rk.  fJ;dk ;wK 4 xzN/ dk j't/rk.  fJj g/go ;t/o d/ ;?ôB  ftZu ;?ZN ehsk ikt/rk. 

g/go dk ;kJh÷L- g{o/ ekr÷ dk 1$4 fjZ;k (35 ;?Aa wha × 25 ;?Aawha) 

                                                                                                                                                                                                                

    

                                                                                                                                                                                                    GkrGkrGkrGkr---- II                      nze L 3nze L 3nze L 3nze L 38888    

2a fJj g/go ôkw d/ ;?ôB ftZu j't/rk.  fJ;dk ;wK 4 xzN/ ns// fJj 38 nzeK dk j't/rk.  fJ; 

ftZu gq:'rh gqhfyne e'Jh fszB t;sK fJeZmhnK oZy e/ wkvb ;?ZN eo/rk ns/ fgZS/ vokgoh 

;?ZN eo/rk.  fJ; g/go ftZu 13-13 ftfdnkoEhnK d/ ro[Zg pDkJ/ ikDr/. ro[Zg nZX uZeo 

ftZu j't/rk.  gfjb/ bkJhB ftZu ;Zs ftfdnkoEh ns/ d{ih bk JhB ftZu S/ ftfdnkoEh 

pmkJ/ ikDr/.  fJj :ehBh pDkfJnk ikt/ fe jo ftfdnkoEh ù  wkvb n;kBh Bkb fdykJh 

d/ ;e/. g/go dk ;kJh÷L- g{o/ ekr÷ dk 1$4 fjZ;k (35 ;?Aa wha × 25 ;?Aawha) 

                                                      GkrGkrGkrGkr---- III                   nze L nze L nze L nze L 14141414    

3a      d'BK ;?ôBK d/ ftueko fJZe xzN/ d/ ;w/A d"okB gq:'rh gqhfyne gqhfynkoEhnK d/ ;?ôBb ezw 

dk w[bKeD eo/rk.  fJ;d/ 14 nze j'Dr/.  gqhfyne ehs/ ezwK nB[;ko nze d/t/rk. 

    

nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL    

;e?fuzr ns/ pDktN   L 10 nze 

gqGkt     L 10 nze 

mhe vokfJzr    L 10 nze 

ozr :'iBk    L 8   nze 

e[Zb nze    L 38 nze 

 

Xosh fdqô fuZsoB (Xosh fdqô fuZsoB (Xosh fdqô fuZsoB (Xosh fdqô fuZsoB (Land Scape))))    

pDktN     L 14 nze 

;w[Zuk gqGkt    L 7  nze 

mhe vokfJzr    L 7  nze 

ozr :'iBk    L 10 nze 

e[Zb nze    L 38 nze 

 

fv÷kJhB (fv÷kJhB (fv÷kJhB (fv÷kJhB (Design))))    

                   fv÷kJhB dh fJekJh    L 10 nze 

                  g/go s/ fv÷kJhB dh ;?fNzr  L 14 nze 

                   ozr :'iBk ns/ gqGkt   L 14 nze 

                   e[Zb nze              L 38 nze 

    

GkrGkrGkrGkr---- II 

wkvb vokfJzrwkvb vokfJzrwkvb vokfJzrwkvb vokfJzr    

                 pDktN     L 7  nze 

                 nB[gks ns/ ;wkB[gks   L 7  nze 

                 ftZE ;'Mh              L 6  nze 

                 mhe vokfJzr    L 10 nze 

                SkfJnk s/ gqSkfJnk   L 8  nze 

                 e[Zb nze              L 38 nze 
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ôq/Dhôq/Dhôq/Dhôq/Dh----frnkoPt]frnkoPt]frnkoPt]frnkoPt]    

33334444a  ebk dk fJfsjk; ns/ gqôz;ka  ebk dk fJfsjk; ns/ gqôz;ka  ebk dk fJfsjk; ns/ gqôz;ka  ebk dk fJfsjk; ns/ gqôz;k    
                    &�������$'���������$���'��������

�
;wK L 3 xzN/ ;wK L 3 xzN/ ;wK L 3 xzN/ ;wK L 3 xzN/                                                                                                         eZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nzeeZ[b L 100 nze    

                                                                                                            nzeK dh tzvLnzeK dh tzvLnzeK dh tzvLnzeK dh tzvL    

 gq:'rh gqhfynk   L 90 nze 

 ;ha;haJha   L 10 nze 

 e[Zb    L 100 nze 

 gk; nze   L 33 nze    

B'N L B'N L B'N L B'N L fJj g/go gqhfynk GtB ftZu pkeh fET{oh g/goK tKr e/Ado ;[govzN tZb'A fbnk ikt/rk. 

GkrGkrGkrGkr---- ��

ebk dk fJfsjk; (ebk dk fJfsjk; (ebk dk fJfsjk; (ebk dk fJfsjk; ( History of Art ))))� � � � ������ � � � �

1a g{ot fJfsjk;-r[øktK dh fuZsoekoh. 

2a f;zX xkNh dh ;ZfGnsk d/ fuZso. 

3a w"ohnk :[Zr d/ fuZso. 

4a ;zxk ebk d/ fuZso. 

5a rzXko ebk d/ fuZso. 

6a r[gsekb dh ebk 

GkrGkrGkrGkr---- ���

ebk dh gq;zôk (ebk dh gq;zôk (ebk dh gq;zôk (ebk dh gq;zôk (Appreciation of Art ))))� � � �     

1a ebk dh gohGkôk. 

2a ebk dh T[Zsgsh. 

3a gohGkôktK L- o/yktK, EK, ozr, N?e;uo 25�B����4 , ftZE ;'Mh. 

4a fv÷kfJB ns/ fJ; dhnK fe;wK 

B'N LB'N LB'N LB'N L----    fJj    g/go pkeh fET{oh g/goK tKr e/Ado ;[govzN dh jk÷oh ftZu gqhfynk GtB ftZu j't/rk.  

    

gqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{ggqôB gZso dh o{g----o/yko/yko/yko/yk    #�������������7������'�8$���%�

ebk dk fJfsjk; ns/ gq;zôkebk dk fJfsjk; ns/ gq;zôkebk dk fJfsjk; ns/ gq;zôkebk dk fJfsjk; ns/ gq;zôk    #&�������$'���������$���'�������%�

;wK L 3 xzN/ ;wK L 3 xzN/ ;wK L 3 xzN/ ;wK L 3 xzN/     

nzeK dh tzvnzeK dh tzvnzeK dh tzvnzeK dh tzv            e[Zb nzee[Zb nzee[Zb nzee[Zb nze        gk; nzegk; nzegk; nzegk; nze    

fET{oh fET{oh fET{oh fET{oh                             99990000                        30303030    

;ha;haJha;ha;haJha;ha;haJha;ha;haJha                        11110000                            3333    

e[Zb nzee[Zb nzee[Zb nzee[Zb nze                        100100100100                        33333333    

1a fJj g/go gqhfynk GtB ftZu pkeh fET{oh g/goK tKr e/Ado ;[govzN tZb'A fbnk ikt/rk. 

2a fJ; g/go d/ d' Gkr j'Dr/. gfjb/ Gkr ftZu gzi gqôB ns/ d{i / Gkr ftZu th gzi gqôB gkJ/ 

ikDr/.    

          gfjb/ Gkr ftZu'A e'Jh fszB gqôB jZb eoB/ jB ns/ d{i/ Gkr ftZu'A e'Jh d' gqôB jZb eoB/ 

jB. 

3a jo gqôB d/ 18 nze j'Dr/. 

4a ;ko/ gqôB p'ov tZb'A fBoXkfos ehs/ rJ/ gkm-eqw ftZu'A jh j'Dr/. 

5a g/go ;?No tZb'A g/go dk w[bKeD eoB bJh w[Zy ns/ T[g-gqhfyneK bJh jdkfJsK G/ihnK 

ikDrhnK. �

�
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�
����+�,��

35a 35a 35a 35a ;ohfoe f;Zfynk ns/ y/vK;ohfoe f;Zfynk ns/ y/vK;ohfoe f;Zfynk ns/ y/vK;ohfoe f;Zfynk ns/ y/vK 

;wK L 2 xzN/;wK L 2 xzN/;wK L 2 xzN/;wK L 2 xzN/                       fET{oh Gkr fET{oh Gkr fET{oh Gkr fET{oh Gkr ----    44440 nze                                                0 nze                                                0 nze                                                0 nze                                                

                                                                                gq:'rh Gkr gq:'rh Gkr gq:'rh Gkr gq:'rh Gkr ----        55550000    nnnnzzzzeeee                                                                                

                                                            ;ha;haJh ;ha;haJh ;ha;haJh ;ha;haJh ----    11110 nze 0 nze 0 nze 0 nze 

                                                                                                                                                                                                                                                                                                                    e[Zb e[Zb e[Zb e[Zb ----    100 nze 100 nze 100 nze 100 nze     

gqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/ykgqôB gZso dh o{g o/yk    

1a gqôB gZso ftZu e[Zb 20 gqôB g[ZS/ ikDr/ ns/ fJj ;ko/  gqôB eoB/ ÷o{oh jB. 

2a gqôB Bzpo 1 s'A 10 sZe fJZe-fJZe nze tkb/ gqôB j'Dr/ ns/ fJj Upi?efNt NkJhg th j' 

;ed/ jB ns/ fJjBK dk T[Zso 10 ôpdK sZe dk j' ;edk W. 

3a gqôB Bzpo 11 s'A 14 sZe d'-d' nzeK tkb/ gqôB j'Dr/.  jo/e gqôB dk T[Zso brGr 30 

ôpdK sZe  j' ;edk W. 

4a gqôB Bzpo 15 s'A 18 sZe fszB-fszB nzeK tkb/ gqôB j'Dr/.  fiBQK dk T[Zso brGr 30 s'A 

50 ôpdK sZe  j' ;edk W. 

5a gqôB Bzpo 19 ns/ 20 gzi- gzi nzeK tkb/ gqôB j'Dr/, fJjBK ftu'A 100# nzdo{Bh S'N 

j't/rh. 

gkmeqwgkmeqwgkmeqwgkmeqw    ((((fbysh Gkrfbysh Gkrfbysh Gkrfbysh Gkr))))    

gkm gfjbkgkm gfjbkgkm gfjbkgkm gfjbk        ;ohfoe f;Zfynk;ohfoe f;Zfynk;ohfoe f;Zfynk;ohfoe f;Zfynk    

            (T) Gkos ftZu ;ohfoe f;Zfynk dk fJfsjk; 

   (n) ;ohfoe f;Zfynk dh XkoBk, Nhu/ ns/ T[d/ô 

gkm d{gkm d{gkm d{gkm d{ikikikik        (1)(1)(1)(1)    ;ohfoe f;Zfynk d/ ;ohfoe fefonk ;pzXh gqGkt;ohfoe f;Zfynk d/ ;ohfoe fefonk ;pzXh gqGkt;ohfoe f;Zfynk d/ ;ohfoe fefonk ;pzXh gqGkt;ohfoe f;Zfynk d/ ;ohfoe fefonk ;pzXh gqGkt    

    (1) e;osK d/ gqGkt 

    (T) g/ôh-gqpzX iK gZmk gqDkbh s/ e;os d/ gqGkt 

    (n) e;os d/ bj{ r'V gqDkbh d/ gqGkt 

    (J) ;tk; fefonk gqDkbh s/ e;os d/ gqGkt 

(2)(2)(2)(2) EektN, d{;ok ;tk;, U[eskjN, nke;hiB ekoi torhnK  

xNBktK. 

gkm shikgkm shikgkm shikgkm shik        ;ohfoe f;Zfynk d/ wB'ftfrnkBe gZy;ohfoe f;Zfynk d/ wB'ftfrnkBe gZy;ohfoe f;Zfynk d/ wB'ftfrnkBe gZy;ohfoe f;Zfynk d/ wB'ftfrnkBe gZy    

   (T) wB'ftfrnkBe dh gfoGkôk ns/ y/v wB'ftfrnkB 

   (n) y/v d/ f;XKs 

   (J) y/v-gqdoôB (e[ôbsk) Bz{ gqGkfts eoB tkb/ wB'ftfrnkBe sZs. 

   (;) gq/oBk 

gkm u"Ekgkm u"Ekgkm u"Ekgkm u"Ek        f;js f;Zfynkf;js f;Zfynkf;js f;Zfynkf;js f;Zfynk    

(T) f;js f;Zfynk dh XkoBk, Nhu/, T[d/ô ns/ y/so. 

(n) ;ohfoe f;Zfynk d/ f;XKs, pkfbr ns/ :[tk ghVQh dh bJh f;js 

f;Zfynk dk wjZst.  f;js Bz{ gqGkts eoB tkb/ sZs, ftnes h, 

gfotko ns/ ;wki  dh f;js s/ ôokp, szpke{ ns/ Bôhbh dtkJ hnK 

dh tos'A d/ gqGkt. 

(J) nZi dhnK f;js ;wZf;nktK - gqd{ôD, gkDh, jtk, nktk ÷, 

e[g'ôD ns/ fJBQK Bz{ jZb eoB bJh f;js f;Zfynk dk :'rdkB. 

(;) S{s dhnK fpwkohnK dk noE, T[jBK d/ ;zukoB dk Yzr ns/ j/m 

fbyhnK fpwkohnK dh o'eEkw-J/v÷, o/ph÷, N?NB;, wb/ohnk, 

Nhapha,  j?g/NkJhN;-ph. 
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gkm gzitKgkm gzitKgkm gzitKgkm gzitK        T[bzfge y/vKT[bzfge y/vKT[bzfge y/vKT[bzfge y/vK    

(T) nkX[fBe U[bzfge y/vK dk fJfsjk;.  U[bzfge wkN', U[bzfge ;"Aj 

ns/ Mzvk 

(n) gzikp y/v ftGkr 

(J) gzikp T[bzfge n?;';hJ/ôB 

gkm S/tKgkm S/tKgkm S/tKgkm S/tK        ;ohfoe tkXk ns/ ftek;;ohfoe tkXk ns/ ftek;;ohfoe tkXk ns/ ftek;;ohfoe tkXk ns/ ftek;    

(T) tkX/ ns/ ftek; ftZu nzso 

(n) tkX/ ns/ ftek; s/ tzô gozgok ns/ tksktoB d/ gqGkt 

(J) ftneshrs f;js ns/ f;js fB:w 

(;) fyvkohnK bJh ;zs[fbs G'iB 

    

gkmeqw (gq:'rh)gkmeqw (gq:'rh)gkmeqw (gq:'rh)gkmeqw (gq:'rh)    

;wK 4 xzN/;wK 4 xzN/;wK 4 xzN/;wK 4 xzN/                                                    gq:'rh L 5gq:'rh L 5gq:'rh L 5gq:'rh L 50 nze0 nze0 nze0 nze    

T) No?e ns/ chbv dh Jht?AN; (bVe/ ns/ bVehnK bJh) jo/e Jht?AN d/ 10 nze j'Dr/.  

 j/m fbfynK ftZu'A e'Jh d' Jht?AN; fJZe No?e ftZu'A ns/ fJZe chbv ftZu'A u[DhnK ik 

;edhnK jB.  

                                            No?e Jht?AN;No?e Jht?AN;No?e Jht?AN;No?e Jht?AN; LLLL- 100 whNo d"V , 200 whNo d"V, 400 whNo d"V, 800 whNo d"V, 3000 

whNo d"V ns/ bVfenK bJh 110 whNo jovb (jovb dh T[ukJh 96a4 ;?awha ns/ 10 

jovbK), bVehnK bJh 100 whNo (jovb dh T[ukJh 76a2 ;?awha)  ns/ 8 jovbK, 4%100 

whNo (bVehnK tk;s/) ns/ 4%100 whNo (bVfenK tk;s/) fob/n d"V,  

                                        chbvchbvchbvchbv    Jht?AN;LJht?AN;LJht?AN;LJht?AN;L---- j?wo Eo', fv;e; Eo', i?tfbB Eo', ôkN g[ZN, bzph Skÿ, T[Zuh Skÿ, shjoh 

Skÿ,  g'b tkbN,     

n) j/m fby/ d'B'A ro[ZgK ftZu'A e'Jh fJZeFfJZe  y/v dh u'D eoBh bk÷wh j?. jo/e y/v d/ 7 

nze j'Dr/. 

y/vK (bVe/ ns/ bVehnK bJh). 

 ro[Zg 1aro[Zg 1aro[Zg 1aro[Zg 1a jkeh, j?Avpkb, epZvh, pkef;zr, N/pb N?fB;, fiwBk;fNe, c[ZNpkb, p?vfwzNB, 

pk;eNpkb, feqeN, y'-y',  e[ôsh, i{v', tkbhpkb, rsek, bkB N?fB; ns/ s?okeh Ós/ 

vkJhftzr. 

ro[Zg 2aro[Zg 2aro[Zg 2aro[Zg 2a  :'r, b'e Bku, fodfwe e;osK, vzpb b?÷hnw  ns/ vfob wkofuzr.   

     ;) y/vK ftZu gqkgsh (tZX s'A tZX 10 nze) j/m fby/ nB[;ko nze fdZs/ ikDr/. 

 ;e{b gqshfBZXsk          2 nze  

            i'B gqshfBZXsk                        4 nze 

   fibQk gqshfBZXsk          6 nze  

   oki gqshfBZXsk                   8 nze 

   e"wh gqshfBXsk                  10 nze 

j)   gq?eNheb ekgh, ukoN iK wkvb - 2 nze  

e)   i[pkBh gqôB-T[Zso - 4 nze 

B'N LB'N LB'N LB'N L    gq?eNheb d/D ;w/A gqhfynkoEh ;g'oN; feZN ftZu j'Dk ukjhdk W.gq?eNheb d/D ;w/A gqhfynkoEh ;g'oN; feZN ftZu j'Dk ukjhdk W.gq?eNheb d/D ;w/A gqhfynkoEh ;g'oN; feZN ftZu j'Dk ukjhdk W.gq?eNheb d/D ;w/A gqhfynkoEh ;g'oN; feZN ftZu j'Dk ukjhdk W.    
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